TVC (Mean) vs TP delay (c,b,ch)=(0,0,0) I o2 TVC (Mean) vs TP delay (c,b,ch)=(0,0,1) I o/e2 TVC (Mean) vs TP delay (c,b,ch)=(0,0,2) I o2 TVC (Mean) vs TP delay (c,b,ch)=(0,0,3) I ore2)
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TVC (Mean) vs TP delay (c,b,ch)=(0,1,0) I 0/-2 TVC (Mean) vs TP delay (c,b,ch)=(0,1,1) I 0/-2 TVC (Mean) vs TP delay (c,b,ch)=(0,1,2) I 0/-2 TVC (Mean) vs TP delay (c,b,ch)=(0,1,3) I ore2)
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TVC (Mean) vs TP delay (c,b,ch)=(0,2,0) I o2 TVC (Mean) vs TP delay (c,b,ch)=(0,2,1) I o/e2 TVC (Mean) vs TP delay (c,b,ch)=(0,2,2) I o2 TVC (Mean) vs TP delay (c,b,ch)=(0,2,3) I ore2)
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TVC (Mean) vs TP delay (c,b,ch)=(0,3,0) I o2 TVC (Mean) vs TP delay (c,b,ch)=(0,3,1) I o/e2 TVC (Mean) vs TP delay (c,b,ch)=(0,3,2) I o2 TVC (Mean) vs TP delay (c,b,ch)=(0,3,3) I ore2)
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(Mean) vs TP delay (c,b,ch)=(0,3,4) TVC (Mean) vs TP delay (c,b,ch)=(0,3,5) TVC (Mean) vs TP delay (c,b,ch)=(0,3,6) TVC (Mean) vs TP delay (c,b,ch)=(0,3,7)
0+14 0+14 0+14 0+14
s [p1 0+1.4 s [p1 0£14 s [p2 0+14 s [p1 0+14
0.5 051 0.5 05
0 0 0 0
-0.5}- -0.5f -0.51- -0.5}-
-1k -1k -1 -1
1 1 1 1 | 1 1 1 1 1 1 1 1 1 1 1 1 1 1 |
0 20 40 60 80 100 0 20 40 60 80 100 0 20 40 60 80 100 0 20 40 60 80 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TvC _ 0/-2 _ 0/-2 _ 0/-2 _ 0/-2
(Mean) vs TP delay (c,b,ch)=(0,3,8) TVC (Mean) vs TP delay (c,b,ch)=(0,3,9) TVC (Mean) vs TP delay (c,b,ch)=(0,3,10) TVC (Mean) vs TP delay (c,b,ch)=(0,3,11)
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TVC (Mean) vs TP delay (c,b,ch)=(0,4,0) I 0/-2 TVC (Mean) vs TP delay (c,b,ch)=(0,4,1) I 0/-2 TVC (Mean) vs TP delay (c,b,ch)=(0,4,2) I 0/-2 TVC (Mean) vs TP delay (c,b,ch)=(0,4,3) I ore2)
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TVC (Mean) vs TP delay (c,b,ch)=(0,4,4) TVC (Mean) vs TP delay (c,b,ch)=(0,4,5) TVC (Mean) vs TP delay (c,b,ch)=(0,4,6) TVC (Mean) vs TP delay (c,b,ch)=(0,4,7)
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TVC (Mean) vs TP delay (c,b,ch)=(0,4,8) TVC (Mean) vs TP delay (c,b,ch)=(0,4,9) TVC (Mean) vs TP delay (c,b,ch)=(0,4,10) TVC (Mean) vs TP delay (c,b,ch)=(0,4,11)
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TVC (Mean) vs TP delay (c,b,ch)=(0,5,0) I o2 TVC (Mean) vs TP delay (c,b,ch)=(0,5,1) I o/e2 TVC (Mean) vs TP delay (c,b,ch)=(0,5,2) I o2 TVC (Mean) vs TP delay (c,b,ch)=(0,5,3) I ore2)
0+1.4 0+£14 0+14 0+1.4
s [p1 0+14 s [p1 014 s [p1 014 s [p1 014
0.5 0.5 0.5 05
0 0 0 0
-0.5F- -0.5f -0.5F- -0.5F-
af af af af
1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
0 20 40 60 80 100 20 40 60 80 100 0 20 40 60 80 100 20 40 60 80 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
- 0/-2 _ 0/-2 _ 0/-2 - 0/-2
TVC (Mean) vs TP delay (c,b,ch)=(0,5,4) TVC (Mean) vs TP delay (c,b,ch)=(0,5,5) TVC (Mean) vs TP delay (c,b,ch)=(0,5,6) TVC (Mean) vs TP delay (c,b,ch)=(0,5,7)
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TVC (Mean) vs TP delay (c,b,ch)=(0,5,8) TVC (Mean) vs TP delay (c,b,ch)=(0,5,9) TVC (Mean) vs TP delay (c,b,ch)=(0,5,10) TVC (Mean) vs TP delay (c,b,ch)=(0,5,11)
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TVC (Mean) vs TP delay (c,b,ch)=(0,6,0) I o2 TVC (Mean) vs TP delay (c,b,ch)=(0,6,1) I o/e2 TVC (Mean) vs TP delay (c,b,ch)=(0,6,2) I o2 TVC (Mean) vs TP delay (c,b,ch)=(0,6,3) I ore2)
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(Mean) vs TP delay (c,b,ch)=(0,6,4) TVC (Mean) vs TP delay (c,b,ch)=(0,6,5) TVC (Mean) vs TP delay (c,b,ch)=(0,6,6) TVC (Mean) vs TP delay (c,b,ch)=(0,6,7)
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(Mean) vs TP delay (c,b,ch)=(0,6,8) TVC (Mean) vs TP delay (c,b,ch)=(0,6,9) TVC (Mean) vs TP delay (c,b,ch)=(0,6,10) TVC (Mean) vs TP delay (c,b,ch)=(0,6,11)
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TVC (Mean) vs TP delay (c,b,ch)=(0,7,0) I 0/-2 TVC (Mean) vs TP delay (c,b,ch)=(0,7,1) I 0/-2 TVC (Mean) vs TP delay (c,b,ch)=(0,7,2) I 0/-2 TVC (Mean) vs TP delay (c,b,ch)=(0,7,3) I ore2)
0+1.4 0+£14 0+14 0+1.4
s [p1 0+14 s [p1 014 s [p1 014 s [p1 014
0.5 0.5 0.5 05
0 0 0 0
-0.5F- -0.5f -0.5F- -0.5F-
-1 -1 -1 -1
1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
0 20 40 60 80 100 20 40 60 80 100 0 20 40 60 80 100 20 40 60 80 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
- 0/-2 _ 0/-2 _ 0/-2 - 0/-2
TVC (Mean) vs TP delay (c,b,ch)=(0,7,4) TVC (Mean) vs TP delay (c,b,ch)=(0,7,5) TVC (Mean) vs TP delay (c,b,ch)=(0,7,6) TVC (Mean) vs TP delay (c,b,ch)=(0,7,7)
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TVC (Mean) vs TP delay (c,b,ch)=(0,7,8) TVC (Mean) vs TP delay (c,b,ch)=(0,7,9) TVC (Mean) vs TP delay (c,b,ch)=(0,7,10) TVC (Mean) vs TP delay (c,b,ch)=(0,7,11)
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TVC (Mean) vs TP delay (c,b,ch)=(0,8,0) I o2 TVC (Mean) vs TP delay (c,b,ch)=(0,8,1) I o/e2 TVC (Mean) vs TP delay (c,b,ch)=(0,8,2) I o2 TVC (Mean) vs TP delay (c,b,ch)=(0,8,3) I ore2)
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(Mean) vs TP delay (c,b,ch)=(0,8,4) TVC (Mean) vs TP delay (c,b,ch)=(0,8,5) TVC (Mean) vs TP delay (c,b,ch)=(0,8,6) TVC (Mean) vs TP delay (c,b,ch)=(0,8,7)
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(Mean) vs TP delay (c,b,ch)=(0,8,8) TVC (Mean) vs TP delay (c,b,ch)=(0,8,9) TVC (Mean) vs TP delay (c,b,ch)=(0,8,10) TVC (Mean) vs TP delay (c,b,ch)=(0,8,11)
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(Mean) vs TP delay (c,b,ch)=(0,8,12) TVC (Mean) vs TP delay (c,b,ch)=(0,8,13) TVC (Mean) vs TP delay (c,b,ch)=(0,8,14) TVC (Mean) vs TP delay (c,b,ch)=(0,8,15)
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TVC (Mean) vs TP delay (c,b,ch)=(0,9,0) I o2 TVC (Mean) vs TP delay (c,b,ch)=(0,9,1) I o/e2 TVC (Mean) vs TP delay (c,b,ch)=(0,9,2) I o2 TVC (Mean) vs TP delay (c,b,ch)=(0,9,3) I ore2)
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(Mean) vs TP delay (c,b,ch)=(0,9,4) TVC (Mean) vs TP delay (c,b,ch)=(0,9,5) TVC (Mean) vs TP delay (c,b,ch)=(0,9,6) TVC (Mean) vs TP delay (c,b,ch)=(0,9,7)
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TvC _ 0/-2 _ 0/-2 _ 0/-2 _ 0/-2
(Mean) vs TP delay (c,b,ch)=(0,9,8) TVC (Mean) vs TP delay (c,b,ch)=(0,9,9) TVC (Mean) vs TP delay (c,b,ch)=(0,9,10) TVC (Mean) vs TP delay (c,b,ch)=(0,9,11)
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(Mean) vs TP delay (c,b,ch)=(0,9,12) TVC (Mean) vs TP delay (c,b,ch)=(0,9,13) TVC (Mean) vs TP delay (c,b,ch)=(0,9,14) TVC (Mean) vs TP delay (c,b,ch)=(0,9,15)
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TVC (Mean) vs TP delay (c,b,ch)=(0,10,0) I o2 TVC (Mean) vs TP delay (c,b,ch)=(0,10,1) I o/e2 TVC (Mean) vs TP delay (c,b,ch)=(0,10,2) I o2 TVC (Mean) vs TP delay (c,b,ch)=(0,10,3) I ore2)
0+1.4 0+£14 0+14 0+1.4
s [p1 0+14 s [p1 014 s [p1 014 s [p1 014
0.5 0.5 0.5 05
0 0 0 0
-0.5F- -0.5f -0.5F- -0.5F-
-1 -1 -1 -1
1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
0 20 40 60 80 100 20 40 60 80 100 0 20 40 60 80 100 20 40 60 80 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
_ 0/-2 _ 0/-2 - 0/-2 _ 0/-2
TVC (Mean) vs TP delay (c,b,ch)=(0,10,4) TVC (Mean) vs TP delay (c,b,ch)=(0,10,5) TVC (Mean) vs TP delay (c,b,ch)=(0,10,6) TVC (Mean) vs TP delay (c,b,ch)=(0,10,7)
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TVC (Mean) vs TP delay (c,b,ch)=(0,10,8, TVC (Mean) vs TP delay (c,b,ch)=(0,10,9; VC (Mean) vs TP delay (c,b,ch)=(0,10,10 VC (Mean) vs TP delay (c,b,ch)=(0,10,11;
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C (Mean) vs TP delay (c,b,ch)=(0,10,12) VC (Mean) vs TP delay (c,b,ch)=(0,10,13) VC (Mean) vs TP delay (c,b,ch)=(0,10,14) VC (Mean) vs TP delay (c,b,ch)=(0,10,15)
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TVC (Mean) vs TP delay (c,b,ch)=(0,11,0) I 0/-2 TVC (Mean) vs TP delay (c,b,ch)=(0,11,1) I 0/-2 TVC (Mean) vs TP delay (c,b,ch)=(0,11,2) I 0/-2 TVC (Mean) vs TP delay (c,b,ch)=(0,11,3) I ore2)
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TVC (Mean) vs TP delay (c,b,ch)=(0,11,4) TVC (Mean) vs TP delay (c,b,ch)=(0,11,5) TVC (Mean) vs TP delay (c,b,ch)=(0,11,6) TVC (Mean) vs TP delay (c,b,ch)=(0,11,7)
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TVC (Mean) vs TP delay (c,b,ch)=(0,11,8, TVC (Mean) vs TP delay (c,b,ch)=(0,11,9; VC (Mean) vs TP delay (c,b,ch)=(0,11,10 VC (Mean) vs TP delay (c,b,ch)=(0,11,11]
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(Mean) vs TP delay (c,b,ch)=(0,11,12) VC (Mean) vs TP delay (c,b,ch)=(0,11,13) VC (Mean) vs TP delay (c,b,ch)=(0,11,14) VC (Mean) vs TP delay (c,b,ch)=(0,11,15)
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TVC (Mean) vs TP delay (c,b,ch)=(0,12,0) I 0/-2 TVC (Mean) vs TP delay (c,b,ch)=(0,12,1) I 0/-2 TVC (Mean) vs TP delay (c,b,ch)=(0,12,2) I 0/-2 TVC (Mean) vs TP delay (c,b,ch)=(0,12,3) I ore2)
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(Mean) vs TP delay (c,b,ch)=(0,12,4) TVC (Mean) vs TP delay (c,b,ch)=(0,12,5) TVC (Mean) vs TP delay (c,b,ch)=(0,12,6) TVC (Mean) vs TP delay (c,b,ch)=(0,12,7)
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TVC (Mean) vs TP delay (c,b,ch)=(0,12,8; TVC (Mean) vs TP delay (c,b,ch)=(0,12,9; VC (Mean) vs TP delay (c,b,ch)=(0,12,10 VC (Mean) vs TP delay (c,b,ch)=(0,12,11]
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c _ 0/-2 _ 0/-2 _ 0/-2 _ 0/-2
(Mean) vs TP delay (c,b,ch)=(0,12,12) VC (Mean) vs TP delay (c,b,ch)=(0,12,13) VC (Mean) vs TP delay (c,b,ch)=(0,12,14) VC (Mean) vs TP delay (c,b,ch)=(0,12,15)
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TVC (Mean) vs TP delay (c,b,ch)=(0,13,0) I o2 TVC (Mean) vs TP delay (c,b,ch)=(0,13,1) I o/e2 TVC (Mean) vs TP delay (c,b,ch)=(0,13,2) I o2 TVC (Mean) vs TP delay (c,b,ch)=(0,13,3) I ore2)
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_ 0/-2 _ 0/-2 - 0/-2 _ 0/-2
TVC (Mean) vs TP delay (c,b,ch)=(0,13,4) TVC (Mean) vs TP delay (c,b,ch)=(0,13,5) TVC (Mean) vs TP delay (c,b,ch)=(0,13,6) TVC (Mean) vs TP delay (c,b,ch)=(0,13,7)
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0/-2 0/-2 0/-2 0/-2
TVC (Mean) vs TP delay (c,b,ch)=(0,13,8, TVC (Mean) vs TP delay (c,b,ch)=(0,13,9; VC (Mean) vs TP delay (c,b,ch)=(0,13,10 VC (Mean) vs TP delay (c,b,ch)=(0,13,11]
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C (Mean) vs TP delay (c,b,ch)=(0,13,12) VC (Mean) vs TP delay (c,b,ch)=(0,13,13) VC (Mean) vs TP delay (c,b,ch)=(0,13,14) VC (Mean) vs TP delay (c,b,ch)=(0,13,15)
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TVC (Mean) vs TP delay (c,b,ch)=(0,14,0) I 0/-2 TVC (Mean) vs TP delay (c,b,ch)=(0,14,1) I 0/-2 TVC (Mean) vs TP delay (c,b,ch)=(0,14,2) I 0/-2 TVC (Mean) vs TP delay (c,b,ch)=(0,14,3) I ore2)
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_ 0/-2 _ 0/-2 - 0/-2 _ 0/-2
TVC (Mean) vs TP delay (c,b,ch)=(0,14,4) TVC (Mean) vs TP delay (c,b,ch)=(0,14,5) TVC (Mean) vs TP delay (c,b,ch)=(0,14,6) TVC (Mean) vs TP delay (c,b,ch)=(0,14,7)
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TVC (Mean) vs TP delay (c,b,ch)=(0,14,8, TVC (Mean) vs TP delay (c,b,ch)=(0,14,9; VC (Mean) vs TP delay (c,b,ch)=(0,14,10 VC (Mean) vs TP delay (c,b,ch)=(0,14,11]
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c _ 0/-2 _ 0/-2 _ 0/-2 _ 0/-2
(Mean) vs TP delay (c,b,ch)=(0,14,12) VC (Mean) vs TP delay (c,b,ch)=(0,14,13) VC (Mean) vs TP delay (c,b,ch)=(0,14,14) VC (Mean) vs TP delay (c,b,ch)=(0,14,15)
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TVC (Mean) vs TP delay (c,b,ch)=(0,15,0) I 0/-2 TVC (Mean) vs TP delay (c,b,ch)=(0,15,1) I 0/-2 TVC (Mean) vs TP delay (c,b,ch)=(0,15,2) I 0/-2 TVC (Mean) vs TP delay (c,b,ch)=(0,15,3) I ore2)
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(Mean) vs TP delay (c,b,ch)=(0,15,4) TVC (Mean) vs TP delay (c,b,ch)=(0,15,5) TVC (Mean) vs TP delay (c,b,ch)=(0,15,6) TVC (Mean) vs TP delay (c,b,ch)=(0,15,7)
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TVC (Mean) vs TP delay (c,b,ch)=(0,15,8, TVC (Mean) vs TP delay (c,b,ch)=(0,15,9; VC (Mean) vs TP delay (c,b,ch)=(0,15,10 VC (Mean) vs TP delay (c,b,ch)=(0,15,11]
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TVC (Mean) vs TP delay (c,b,ch)=(1,0,0) I 0/-2 TVC (Mean) vs TP delay (c,b,ch)=(1,0,1) I 0/-2 TVC (Mean) vs TP delay (c,b,ch)=(1,0,2) I 0/-2 TVC (Mean) vs TP delay (c,b,ch)=(1,0,3) I ore2)
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TVC (Mean) vs TP delay (c,b,ch)=(1,1,0) I o2 TVC (Mean) vs TP delay (c,b,ch)=(1,1,1) I o/e2 TVC (Mean) vs TP delay (c,b,ch)=(1,1,2) I o2 TVC (Mean) vs TP delay (c,b,ch)=(1,1,3) I ore2)
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TVC (Mean) vs TP delay (c,b,ch)=(1,2,0) I 0/-2 TVC (Mean) vs TP delay (c,b,ch)=(1,2,1) I 0/-2 TVC (Mean) vs TP delay (c,b,ch)=(1,2,2) I 0/-2 TVC (Mean) vs TP delay (c,b,ch)=(1,2,3) I ore2)
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- 0+14 . 0+14 - 0+14 . 0£14
s |p1 0+14 1f |p1 0+14 i | p1 014 1 |p1 014
0.5} 05 0.5 0.5}
0 0 0 0
-0.5 -0.5- -0.5 -0.5
-1 -1 -1 -1}
1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 L 1 1 |
0 20 40 60 80 100 20 40 60 80 100 0 20 40 60 80 100 0 20 40 60 80 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
- 0/-2 _ 0/-2 _ 0/-2 _ 0/-2
TVC (Mean) vs TP delay (c,b,ch)=(1,2,12) TVC (Mean) vs TP delay (c,b,ch)=(1,2,13) TVC (Mean) vs TP delay (c,b,ch)=(1,2,14) TVC (Mean) vs TP delay (c,b,ch)=(1,2,15)
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TVC (Mean) vs TP delay (c,b,ch)=(1,3,0) I o2 TVC (Mean) vs TP delay (c,b,ch)=(1,3,1) I o/e2 TVC (Mean) vs TP delay (c,b,ch)=(1,3,2) I o2 TVC (Mean) vs TP delay (c,b,ch)=(1,3,3) I ore2)
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TVC (Mean) vs TP delay (c,b,ch)=(1,3,4) TVC (Mean) vs TP delay (c,b,ch)=(1,3,5) TVC (Mean) vs TP delay (c,b,ch)=(1,3,6) TVC (Mean) vs TP delay (c,b,ch)=(1,3,7)
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TVC (Mean) vs TP delay (c,b,ch)=(1,3,8) TVC (Mean) vs TP delay (c,b,ch)=(1,3,9) TVC (Mean) vs TP delay (c,b,ch)=(1,3,10) TVC (Mean) vs TP delay (c,b,ch)=(1,3,11)
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TVC (Mean) vs TP delay (c,b,ch)=(1,4,0) I o2 TVC (Mean) vs TP delay (c,b,ch)=(1,4,1) I o/e2 TVC (Mean) vs TP delay (c,b,ch)=(1,4,2) I o2 TVC (Mean) vs TP delay (c,b,ch)=(1,4,3) I ore2)
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TVC (Mean) vs TP delay (c,b,ch)=(1,4,4) TVC (Mean) vs TP delay (c,b,ch)=(1,4,5) TVC (Mean) vs TP delay (c,b,ch)=(1,4,6) TVC (Mean) vs TP delay (c,b,ch)=(1,4,7)
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TVC (Mean) vs TP delay (c,b,ch)=(1,4,8) TVC (Mean) vs TP delay (c,b,ch)=(1,4,9) TVC (Mean) vs TP delay (c,b,ch)=(1,4,10) TVC (Mean) vs TP delay (c,b,ch)=(1,4,11)
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TVC (Mean) vs TP delay (c,b,ch)=(1,5,0) I 0/-2 TVC (Mean) vs TP delay (c,b,ch)=(1,5,1) I 0/-2 TVC (Mean) vs TP delay (c,b,ch)=(1,5,2) I 0/-2 TVC (Mean) vs TP delay (c,b,ch)=(1,5,3) I ore2)
0+1.4 0+£14 0+14 0+1.4
s [p1 0+14 s [p1 014 s [p1 014 s [p1 014
0.5 0.5 0.5 05
0 0 0 0
-0.5F- -0.5f -0.5F- -0.5F-
-1 -1 -1 -1
1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
0 20 40 60 80 100 20 40 60 80 100 0 20 40 60 80 100 20 40 60 80 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
Ve - 0/-2 _ 0/-2 _ 0/-2 - 0/-2
(Mean) vs TP delay (c,b,ch)=(1,5,4) TVC (Mean) vs TP delay (c,b,ch)=(1,5,5) TVC (Mean) vs TP delay (c,b,ch)=(1,5,6) TVC (Mean) vs TP delay (c,b,ch)=(1,5,7)
0+14 0+14 0+14 0+14
s [p1 0+1.4 s [p1 0£14 s [p2 0+14 s [p1 0+14
0.5 051 0.5 05
0 0 0 0
-0.5}- -0.5f -0.51- -0.5}-
-1k -1k -1 -1
1 1 1 1 | 1 1 1 1 1 1 1 1 1 1 1 1 1 1 |
0 20 40 60 80 100 0 20 40 60 80 100 0 20 40 60 80 100 0 20 40 60 80 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
_ 0/-2 _ 0/-2 _ 0/-2 _ 0/-2
TVC (Mean) vs TP delay (c,b,ch)=(1,5,8) TVC (Mean) vs TP delay (c,b,ch)=(1,5,9) TVC (Mean) vs TP delay (c,b,ch)=(1,5,10) TVC (Mean) vs TP delay (c,b,ch)=(1,5,11)
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TVC (Mean) vs TP delay (c,b,ch)=(1,6,0) I o2 TVC (Mean) vs TP delay (c,b,ch)=(1,6,1) I o/e2 TVC (Mean) vs TP delay (c,b,ch)=(1,6,2) I o2 TVC (Mean) vs TP delay (c,b,ch)=(1,6,3) I ore2)
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TVC (Mean) vs TP delay (c,b,ch)=(1,7,0) I o2 TVC (Mean) vs TP delay (c,b,ch)=(1,7,1) I o/e2 TVC (Mean) vs TP delay (c,b,ch)=(1,7,2) I o2 TVC (Mean) vs TP delay (c,b,ch)=(1,7,3) I ore2)
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TVC (Mean) vs TP delay (c,b,ch)=(1,7,4) TVC (Mean) vs TP delay (c,b,ch)=(1,7,5) TVC (Mean) vs TP delay (c,b,ch)=(1,7,6) TVC (Mean) vs TP delay (c,b,ch)=(1,7,7)
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TVC (Mean) vs TP delay (c,b,ch)=(1,7,8) TVC (Mean) vs TP delay (c,b,ch)=(1,7,9) TVC (Mean) vs TP delay (c,b,ch)=(1,7,10) TVC (Mean) vs TP delay (c,b,ch)=(1,7,11)
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TVC (Mean) vs TP delay (c,b,ch)=(1,7,12) TVC (Mean) vs TP delay (c,b,ch)=(1,7,13) TVC (Mean) vs TP delay (c,b,ch)=(1,7,14) TVC (Mean) vs TP delay (c,b,ch)=(1,7,15)
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TVC (Mean) vs TP delay (c,b,ch)=(1,8,0) I o2 TVC (Mean) vs TP delay (c,b,ch)=(1,8,1) I o/e2 TVC (Mean) vs TP delay (c,b,ch)=(1,8,2) I o2 TVC (Mean) vs TP delay (c,b,ch)=(1,8,3) I ore2)
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TVC (Mean) vs TP delay (c,b,ch)=(1,8,4) TVC (Mean) vs TP delay (c,b,ch)=(1,8,5) TVC (Mean) vs TP delay (c,b,ch)=(1,8,6) TVC (Mean) vs TP delay (c,b,ch)=(1,8,7)
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_ 0/-2 _ 0/-2 _ 0/-2 _ 0/-2
TVC (Mean) vs TP delay (c,b,ch)=(1,8,8) TVC (Mean) vs TP delay (c,b,ch)=(1,8,9) TVC (Mean) vs TP delay (c,b,ch)=(1,8,10) TVC (Mean) vs TP delay (c,b,ch)=(1,8,11)
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(Mean) vs TP delay (c,b,ch)=(1,8,12) TVC (Mean) vs TP delay (c,b,ch)=(1,8,13) TVC (Mean) vs TP delay (c,b,ch)=(1,8,14) TVC (Mean) vs TP delay (c,b,ch)=(1,8,15)
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TVC (Mean) vs TP delay (c,b,ch)=(1,9,0) I o2 TVC (Mean) vs TP delay (c,b,ch)=(1,9,1) I o/e2 TVC (Mean) vs TP delay (c,b,ch)=(1,9,2) I o2 TVC (Mean) vs TP delay (c,b,ch)=(1,9,3) I ore2)
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- 0/-2 _ 0/-2 _ 0/-2 - 0/-2
TVC (Mean) vs TP delay (c,b,ch)=(1,9,4) TVC (Mean) vs TP delay (c,b,ch)=(1,9,5) TVC (Mean) vs TP delay (c,b,ch)=(1,9,6) TVC (Mean) vs TP delay (c,b,ch)=(1,9,7)
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_ 0/-2 _ 0/-2 _ 0/-2 _ 0/-2
TVC (Mean) vs TP delay (c,b,ch)=(1,9,8) TVC (Mean) vs TP delay (c,b,ch)=(1,9,9) TVC (Mean) vs TP delay (c,b,ch)=(1,9,10) TVC (Mean) vs TP delay (c,b,ch)=(1,9,11)
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(Mean) vs TP delay (c,b,ch)=(1,9,12) TVC (Mean) vs TP delay (c,b,ch)=(1,9,13) TVC (Mean) vs TP delay (c,b,ch)=(1,9,14) TVC (Mean) vs TP delay (c,b,ch)=(1,9,15)
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TVC (Mean) vs TP delay (c,b,ch)=(1,10,0) I 0/-2 TVC (Mean) vs TP delay (c,b,ch)=(1,10,1) I 0/-2 TVC (Mean) vs TP delay (c,b,ch)=(1,10,2) I 0/-2 TVC (Mean) vs TP delay (c,b,ch)=(1,10,3) I ore2)
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_ 0/-2 _ 0/-2 - 0/-2 _ 0/-2
TVC (Mean) vs TP delay (c,b,ch)=(1,10,4) TVC (Mean) vs TP delay (c,b,ch)=(1,10,5) TVC (Mean) vs TP delay (c,b,ch)=(1,10,6) TVC (Mean) vs TP delay (c,b,ch)=(1,10,7)
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TVC (Mean) vs TP delay (c,b,ch)=(1,10,8, TVC (Mean) vs TP delay (c,b,ch)=(1,10,9; VC (Mean) vs TP delay (c,b,ch)=(1,10,10 VC (Mean) vs TP delay (c,b,ch)=(1,10,11]
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(Mean) vs TP delay (c,b,ch)=(1,10,12) VC (Mean) vs TP delay (c,b,ch)=(1,10,13) VC (Mean) vs TP delay (c,b,ch)=(1,10,14) VC (Mean) vs TP delay (c,b,ch)=(1,10,15)
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TVC (Mean) vs TP delay (c,b,ch)=(1,11,0) I o2 TVC (Mean) vs TP delay (c,b,ch)=(1,11,1) I o/e2 TVC (Mean) vs TP delay (c,b,ch)=(1,11,2) I o2 TVC (Mean) vs TP delay (c,b,ch)=(1,11,3) I ore2)
0+1.4 0+£14 0+14 0+1.4
s [p1 0+14 s [p1 014 s [p1 014 s [p1 014
0.5 0.5 0.5 05
0 0 0 0
-0.5F- -0.5f -0.5F- -0.5F-
af af af af
1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
0 20 40 60 80 100 20 40 60 80 100 0 20 40 60 80 100 20 40 60 80 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
_ 0/-2 _ 0/-2 - 0/-2 _ 0/-2
TVC (Mean) vs TP delay (c,b,ch)=(1,11,4) TVC (Mean) vs TP delay (c,b,ch)=(1,11,5) TVC (Mean) vs TP delay (c,b,ch)=(1,11,6) TVC (Mean) vs TP delay (c,b,ch)=(1,11,7)
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TVC (Mean) vs TP delay (c,b,ch)=(1,11,8] TVC (Mean) vs TP delay (c,b,ch)=(1,11,9, VC (Mean) vs TP delay (c,b,ch)=(1,11,10; VC (Mean) vs TP delay (c,b,ch)=(1,11,11;
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(Mean) vs TP delay (c,b,ch)=(1,11,12) VC (Mean) vs TP delay (c,b,ch)=(1,11,13) VC (Mean) vs TP delay (c,b,ch)=(1,11,14) VC (Mean) vs TP delay (c,b,ch)=(1,11,15)
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TVC (Mean) vs TP delay (c,b,ch)=(1,12,0) I o2 TVC (Mean) vs TP delay (c,b,ch)=(1,12,1) I o/e2 TVC (Mean) vs TP delay (c,b,ch)=(1,12,2) I o2 TVC (Mean) vs TP delay (c,b,ch)=(1,12,3) I ore2)
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_ 0/-2 _ 0/-2 - 0/-2 _ 0/-2
TVC (Mean) vs TP delay (c,b,ch)=(1,12,4) TVC (Mean) vs TP delay (c,b,ch)=(1,12,5) TVC (Mean) vs TP delay (c,b,ch)=(1,12,6) TVC (Mean) vs TP delay (c,b,ch)=(1,12,7)
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0/-2 0/-2 0/-2 0/-2
TVC (Mean) vs TP delay (c,b,ch)=(1,12,8] TVC (Mean) vs TP delay (c,b,ch)=(1,12,9, VC (Mean) vs TP delay (c,b,ch)=(1,12,10; VC (Mean) vs TP delay (c,b,ch)=(1,12,11;
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C (Mean) vs TP delay (c,b,ch)=(1,12,12) VC (Mean) vs TP delay (c,b,ch)=(1,12,13) VC (Mean) vs TP delay (c,b,ch)=(1,12,14) VC (Mean) vs TP delay (c,b,ch)=(1,12,15)
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TVC (Mean) vs TP delay (c,b,ch)=(1,13,0) I 0/-2 TVC (Mean) vs TP delay (c,b,ch)=(1,13,1) I 0/-2 TVC (Mean) vs TP delay (c,b,ch)=(1,13,2) I 0/-2 TVC (Mean) vs TP delay (c,b,ch)=(1,13,3) I ore2)
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_ 0/-2 _ 0/-2 - 0/-2 _ 0/-2
TVC (Mean) vs TP delay (c,b,ch)=(1,13,4) TVC (Mean) vs TP delay (c,b,ch)=(1,13,5) TVC (Mean) vs TP delay (c,b,ch)=(1,13,6) TVC (Mean) vs TP delay (c,b,ch)=(1,13,7)
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0/-2 0/-2 0/-2 0/-2
TVC (Mean) vs TP delay (c,b,ch)=(1,13,8, TVC (Mean) vs TP delay (c,b,ch)=(1,13,9; VC (Mean) vs TP delay (c,b,ch)=(1,13,10 VC (Mean) vs TP delay (c,b,ch)=(1,13,11]
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c _ 0/-2 _ 0/-2 _ 0/-2 _ 0/-2
(Mean) vs TP delay (c,b,ch)=(1,13,12) VC (Mean) vs TP delay (c,b,ch)=(1,13,13) VC (Mean) vs TP delay (c,b,ch)=(1,13,14) VC (Mean) vs TP delay (c,b,ch)=(1,13,15)
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TVC (Mean) vs TP delay (c,b,ch)=(1,14,0) I o2 TVC (Mean) vs TP delay (c,b,ch)=(1,14,1) I o/e2 TVC (Mean) vs TP delay (c,b,ch)=(1,14,2) I o2 TVC (Mean) vs TP delay (c,b,ch)=(1,14,3) I ore2)
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TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
_ 0/-2 _ 0/-2 - 0/-2 _ 0/-2
TVC (Mean) vs TP delay (c,b,ch)=(1,14,4) TVC (Mean) vs TP delay (c,b,ch)=(1,14,5) TVC (Mean) vs TP delay (c,b,ch)=(1,14,6) TVC (Mean) vs TP delay (c,b,ch)=(1,14,7)
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TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
0/-2 0/-2 0/-2 0/-2
TVC (Mean) vs TP delay (c,b,ch)=(1,14,8] TVC (Mean) vs TP delay (c,b,ch)=(1,14,9, VC (Mean) vs TP delay (c,b,ch)=(1,14,10; VC (Mean) vs TP delay (c,b,ch)=(1,14,11;
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c _ 0/-2 _ 0/-2 _ 0/-2 _ 0/-2
(Mean) vs TP delay (c,b,ch)=(1,14,12) VC (Mean) vs TP delay (c,b,ch)=(1,14,13) VC (Mean) vs TP delay (c,b,ch)=(1,14,14) VC (Mean) vs TP delay (c,b,ch)=(1,14,15)
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TVC (Mean) vs TP delay (c,b,ch)=(1,15,0) I o2 TVC (Mean) vs TP delay (c,b,ch)=(1,15,1) I o/e2 TVC (Mean) vs TP delay (c,b,ch)=(1,15,2) I o2 TVC (Mean) vs TP delay (c,b,ch)=(1,15,3) I ore2)
0+1.4 0+£14 0+14 0+1.4
s [p1 0+14 s [p1 014 s [p1 014 s [p1 014
0.5 0.5 0.5 05
0 0 0 0
-0.5F- -0.5f -0.5F- -0.5F-
af af af af
1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
0 20 40 60 80 100 20 40 60 80 100 0 20 40 60 80 100 20 40 60 80 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
_ 0/-2 _ 0/-2 - 0/-2 _ 0/-2
TVC (Mean) vs TP delay (c,b,ch)=(1,15,4) TVC (Mean) vs TP delay (c,b,ch)=(1,15,5) TVC (Mean) vs TP delay (c,b,ch)=(1,15,6) TVC (Mean) vs TP delay (c,b,ch)=(1,15,7)
0+14 0+14 0+14 0+14
s [p1 0+1.4 s [p1 0£14 s [p2 0+14 s [p1 0+14
0.5 051 0.5 05
0 0 0 0
-0.5}- -0.5f -0.51- -0.5}-
-1k -1k -1 -1
1 1 1 1 | 1 1 1 1 1 1 1 1 1 1 1 1 1 1 |
0 20 40 60 80 100 0 20 40 60 80 100 0 20 40 60 80 100 0 20 40 60 80 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
0/-2 0/-2 0/-2 0/-2
TVC (Mean) vs TP delay (c,b,ch)=(1,15,8, TVC (Mean) vs TP delay (c,b,ch)=(1,15,9; VC (Mean) vs TP delay (c,b,ch)=(1,15,10 VC (Mean) vs TP delay (c,b,ch)=(1,15,11]
(Mean) y Chon-t | 2 (Mean) y Coen-a | 2] fvewen y Chon | 2 bvewean e | 202
s |p1 0+14 1f |p1 0+14 i | p1 014 1 |p1 014
0.5} 05 0.5 0.5}
0 0 0 0
-0.5 -0.5- -0.5 -0.5
-1 -1 -1 -1}
1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 L 1 1 |
0 20 40 60 80 100 20 40 60 80 100 0 20 40 60 80 100 0 20 40 60 80 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
- 0/-2 - 0/-2 _ 0/-2 _ 0/-2
C (Mean) vs TP delay (c,b,ch)=(1,15,12) VC (Mean) vs TP delay (c,b,ch)=(1,15,13) VC (Mean) vs TP delay (c,b,ch)=(1,15,14) VC (Mean) vs TP delay (c,b,ch)=(1,15,15)
0+1.4 0+14 0+14 0+1.4
s [p1 0:14 s [p1 014 s [p1 014 1+ [p1 014
0.5f 0.5 0.5} 0.5
0 0 0 0
-0.5}- -0.5f -0.51- -0.5}-
fy A I T T T T iy T I T T T T iy A I T B T T iy A I T B T T
60 60
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



TVC (Mean) vs TP delay (c,b,ch)=(2,0,0) I o2 TVC (Mean) vs TP delay (c,b,ch)=(2,0,1) I o/e2 TVC (Mean) vs TP delay (c,b,ch)=(2,0,2) I o2 TVC (Mean) vs TP delay (c,b,ch)=(2,0,3) I ore2)
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TVC (Mean) vs TP delay (c,b,ch)=(2,1,0) I 0/-2 TVC (Mean) vs TP delay (c,b,ch)=(2,1,1) I 0/-2 TVC (Mean) vs TP delay (c,b,ch)=(2,1,2) I 0/-2 TVC (Mean) vs TP delay (c,b,ch)=(2,1,3) I ore2)
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TVC (Mean) vs TP delay (c,b,ch)=(2,2,0) I o2 TVC (Mean) vs TP delay (c,b,ch)=(2,2,1) I o/e2 TVC (Mean) vs TP delay (c,b,ch)=(2,2,2) I o2 TVC (Mean) vs TP delay (c,b,ch)=(2,2,3) I ore2)
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TVC (Mean) vs TP delay (c,b,ch)=(2,3,0) I o2 TVC (Mean) vs TP delay (c,b,ch)=(2,3,1) I o/e2 TVC (Mean) vs TP delay (c,b,ch)=(2,3,2) I o2 TVC (Mean) vs TP delay (c,b,ch)=(2,3,3) I ore2)
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TVC (Mean) vs TP delay (c,b,ch)=(2,4,0) I 0/-2 TVC (Mean) vs TP delay (c,b,ch)=(2,4,1) I 0/-2 TVC (Mean) vs TP delay (c,b,ch)=(2,4,2) I 0/-2 TVC (Mean) vs TP delay (c,b,ch)=(2,4,3) I ore2)
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TVC (Mean) vs TP delay (c,b,ch)=(2,5,0) I o2 TVC (Mean) vs TP delay (c,b,ch)=(2,5,1) I o/e2 TVC (Mean) vs TP delay (c,b,ch)=(2,5,2) I o2 TVC (Mean) vs TP delay (c,b,ch)=(2,5,3) I ore2)
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TVC (Mean) vs TP delay (c,b,ch)=(2,5,4) TVC (Mean) vs TP delay (c,b,ch)=(2,5,5) TVC (Mean) vs TP delay (c,b,ch)=(2,5,6) TVC (Mean) vs TP delay (c,b,ch)=(2,5,7)
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TVC (Mean) vs TP delay (c,b,ch)=(2,6,0) I o2 TVC (Mean) vs TP delay (c,b,ch)=(2,6,1) I o/e2 TVC (Mean) vs TP delay (c,b,ch)=(2,6,2) I o2 TVC (Mean) vs TP delay (c,b,ch)=(2,6,3) I ore2)
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TVC (Mean) vs TP delay (c,b,ch)=(2,6,8) TVC (Mean) vs TP delay (c,b,ch)=(2,6,9) TVC (Mean) vs TP delay (c,b,ch)=(2,6,10) TVC (Mean) vs TP delay (c,b,ch)=(2,6,11)
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TVC (Mean) vs TP delay (c,b,ch)=(2,7,0) I 0/-2 TVC (Mean) vs TP delay (c,b,ch)=(2,7,1) I 0/-2 TVC (Mean) vs TP delay (c,b,ch)=(2,7,2) I 0/-2 TVC (Mean) vs TP delay (c,b,ch)=(2,7,3) I ore2)
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(Mean) vs TP delay (c,b,ch)=(2,7,4) TVC (Mean) vs TP delay (c,b,ch)=(2,7,5) TVC (Mean) vs TP delay (c,b,ch)=(2,7,6) TVC (Mean) vs TP delay (c,b,ch)=(2,7,7)
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_ 0/-2 _ 0/-2 _ 0/-2 _ 0/-2
TVC (Mean) vs TP delay (c,b,ch)=(2,7,8) TVC (Mean) vs TP delay (c,b,ch)=(2,7,9) TVC (Mean) vs TP delay (c,b,ch)=(2,7,10) TVC (Mean) vs TP delay (c,b,ch)=(2,7,11)
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- 0/-2 _ 0/-2 _ 0/-2 _ 0/-2
TVC (Mean) vs TP delay (c,b,ch)=(2,7,12) TVC (Mean) vs TP delay (c,b,ch)=(2,7,13) TVC (Mean) vs TP delay (c,b,ch)=(2,7,14) TVC (Mean) vs TP delay (c,b,ch)=(2,7,15)
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TVC (Mean) vs TP delay (c,b,ch)=(2,8,0) I o2 TVC (Mean) vs TP delay (c,b,ch)=(2,8,1) I o/e2 TVC (Mean) vs TP delay (c,b,ch)=(2,8,2) I o2 TVC (Mean) vs TP delay (c,b,ch)=(2,8,3) I ore2)
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- 0/-2 _ 0/-2 _ 0/-2 - 0/-2
TVC (Mean) vs TP delay (c,b,ch)=(2,8,4) TVC (Mean) vs TP delay (c,b,ch)=(2,8,5) TVC (Mean) vs TP delay (c,b,ch)=(2,8,6) TVC (Mean) vs TP delay (c,b,ch)=(2,8,7)
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TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
_ 0/-2 _ 0/-2 _ 0/-2 _ 0/-2
TVC (Mean) vs TP delay (c,b,ch)=(2,8,8) TVC (Mean) vs TP delay (c,b,ch)=(2,8,9) TVC (Mean) vs TP delay (c,b,ch)=(2,8,10) TVC (Mean) vs TP delay (c,b,ch)=(2,8,11)
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- 0/-2 _ 0/-2 _ 0/-2 _ 0/-2
TVC (Mean) vs TP delay (c,b,ch)=(2,8,12) TVC (Mean) vs TP delay (c,b,ch)=(2,8,13) TVC (Mean) vs TP delay (c,b,ch)=(2,8,14) TVC (Mean) vs TP delay (c,b,ch)=(2,8,15)
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TVC (Mean) vs TP delay (c,b,ch)=(2,9,0) I o2 TVC (Mean) vs TP delay (c,b,ch)=(2,9,1) I o/e2 TVC (Mean) vs TP delay (c,b,ch)=(2,9,2) I o2 TVC (Mean) vs TP delay (c,b,ch)=(2,9,3) I ore2)
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TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
- 0/-2 _ 0/-2 _ 0/-2 - 0/-2
TVC (Mean) vs TP delay (c,b,ch)=(2,9,4) TVC (Mean) vs TP delay (c,b,ch)=(2,9,5) TVC (Mean) vs TP delay (c,b,ch)=(2,9,6) TVC (Mean) vs TP delay (c,b,ch)=(2,9,7)
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TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
_ 0/-2 _ 0/-2 _ 0/-2 _ 0/-2
TVC (Mean) vs TP delay (c,b,ch)=(2,9,8) TVC (Mean) vs TP delay (c,b,ch)=(2,9,9) TVC (Mean) vs TP delay (c,b,ch)=(2,9,10) TVC (Mean) vs TP delay (c,b,ch)=(2,9,11)
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- 0/-2 _ 0/-2 _ 0/-2 _ 0/-2
TVC (Mean) vs TP delay (c,b,ch)=(2,9,12) TVC (Mean) vs TP delay (c,b,ch)=(2,9,13) TVC (Mean) vs TP delay (c,b,ch)=(2,9,14) TVC (Mean) vs TP delay (c,b,ch)=(2,9,15)
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TVC (Mean) vs TP delay (c,b,ch)=(2,10,0) I 0/-2 TVC (Mean) vs TP delay (c,b,ch)=(2,10,1) I 0/-2 TVC (Mean) vs TP delay (c,b,ch)=(2,10,2) I 0/-2 TVC (Mean) vs TP delay (c,b,ch)=(2,10,3) I ore2)
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TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
Tve _ 0/-2 _ 0/-2 - 0/-2 _ 0/-2
(Mean) vs TP delay (c,b,ch)=(2,10,4) TVC (Mean) vs TP delay (c,b,ch)=(2,10,5) TVC (Mean) vs TP delay (c,b,ch)=(2,10,6) TVC (Mean) vs TP delay (c,b,ch)=(2,10,7)
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0/-2 0/-2 0/-2 0/-2
TVC (Mean) vs TP delay (c,b,ch)=(2,10,8, TVC (Mean) vs TP delay (c,b,ch)=(2,10,9; VC (Mean) vs TP delay (c,b,ch)=(2,10,10 VC (Mean) vs TP delay (c,b,ch)=(2,10,11]
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c _ 0/-2 _ 0/-2 _ 0/-2 _ 0/-2
(Mean) vs TP delay (c,b,ch)=(2,10,12) VC (Mean) vs TP delay (c,b,ch)=(2,10,13) VC (Mean) vs TP delay (c,b,ch)=(2,10,14) VC (Mean) vs TP delay (c,b,ch)=(2,10,15)
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TVC (Mean) vs TP delay (c,b,ch)=(2,11,0) I o2 TVC (Mean) vs TP delay (c,b,ch)=(2,11,1) I o/e2 TVC (Mean) vs TP delay (c,b,ch)=(2,11,2) I o2 TVC (Mean) vs TP delay (c,b,ch)=(2,11,3) I ore2)
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TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
_ 0/-2 _ 0/-2 - 0/-2 _ 0/-2
TVC (Mean) vs TP delay (c,b,ch)=(2,11,4) TVC (Mean) vs TP delay (c,b,ch)=(2,11,5) TVC (Mean) vs TP delay (c,b,ch)=(2,11,6) TVC (Mean) vs TP delay (c,b,ch)=(2,11,7)
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TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
0/-2 0/-2 0/-2 0/-2
TVC (Mean) vs TP delay (c,b,ch)=(2,11,8] TVC (Mean) vs TP delay (c,b,ch)=(2,11,9, VC (Mean) vs TP delay (c,b,ch)=(2,11,10; VC (Mean) vs TP delay (c,b,ch)=(2,11,11;
(Mean) y chon-e | 2 (Mean) y Cbcn-e | 2] fvewen y Chone: | 2 bvewean y CbchG | 202
s |p1 0+14 1f |p1 0+14 i | p1 014 1 |p1 014
0.5} 05 0.5 0.5}
0 0 0 0
-0.5 -0.5- -0.5 -0.5
-1 -1 -1 -1}
1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 L 1 1 |
0 20 40 60 80 100 20 40 60 80 100 0 20 40 60 80 100 0 20 40 60 80 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
- 0/-2 - 0/-2 _ 0/-2 _ 0/-2
C (Mean) vs TP delay (c,b,ch)=(2,11,12) VC (Mean) vs TP delay (c,b,ch)=(2,11,13) VC (Mean) vs TP delay (c,b,ch)=(2,11,14) VC (Mean) vs TP delay (c,b,ch)=(2,11,15)
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TVC (Mean) vs TP delay (c,b,ch)=(2,12,0) I 0/-2 TVC (Mean) vs TP delay (c,b,ch)=(2,12,1) I 0/-2 TVC (Mean) vs TP delay (c,b,ch)=(2,12,2) I 0/-2 TVC (Mean) vs TP delay (c,b,ch)=(2,12,3) I ore2)
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TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
_ 0/-2 _ 0/-2 - 0/-2 _ 0/-2
TVC (Mean) vs TP delay (c,b,ch)=(2,12,4) TVC (Mean) vs TP delay (c,b,ch)=(2,12,5) TVC (Mean) vs TP delay (c,b,ch)=(2,12,6) TVC (Mean) vs TP delay (c,b,ch)=(2,12,7)
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TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
0/-2 0/-2 0/-2 0/-2
TVC (Mean) vs TP delay (c,b,ch)=(2,12,8] TVC (Mean) vs TP delay (c,b,ch)=(2,12,9, VC (Mean) vs TP delay (c,b,ch)=(2,12,10; VC (Mean) vs TP delay (c,b,ch)=(2,12,11;
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TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
c _ 0/-2 _ 0/-2 _ 0/-2 _ 0/-2
(Mean) vs TP delay (c,b,ch)=(2,12,12) VC (Mean) vs TP delay (c,b,ch)=(2,12,13) VC (Mean) vs TP delay (c,b,ch)=(2,12,14) VC (Mean) vs TP delay (c,b,ch)=(2,12,15)
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TVC (Mean) vs TP delay (c,b,ch)=(2,13,0) I 0/-2 TVC (Mean) vs TP delay (c,b,ch)=(2,13,1) I 0/-2 TVC (Mean) vs TP delay (c,b,ch)=(2,13,2) I 0/-2 TVC (Mean) vs TP delay (c,b,ch)=(2,13,3) I ore2)
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TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
Tve _ 0/-2 _ 0/-2 - 0/-2 _ 0/-2
(Mean) vs TP delay (c,b,ch)=(2,13,4) TVC (Mean) vs TP delay (c,b,ch)=(2,13,5) TVC (Mean) vs TP delay (c,b,ch)=(2,13,6) TVC (Mean) vs TP delay (c,b,ch)=(2,13,7)
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TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
0/-2 0/-2 0/-2 0/-2
TVC (Mean) vs TP delay (c,b,ch)=(2,13,8, TVC (Mean) vs TP delay (c,b,ch)=(2,13,9; VC (Mean) vs TP delay (c,b,ch)=(2,13,10 VC (Mean) vs TP delay (c,b,ch)=(2,13,11]
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TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
c _ 0/-2 _ 0/-2 _ 0/-2 _ 0/-2
(Mean) vs TP delay (c,b,ch)=(2,13,12) VC (Mean) vs TP delay (c,b,ch)=(2,13,13) VC (Mean) vs TP delay (c,b,ch)=(2,13,14) VC (Mean) vs TP delay (c,b,ch)=(2,13,15)
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TVC (Mean) vs TP delay (c,b,ch)=(2,14,0) I o2 TVC (Mean) vs TP delay (c,b,ch)=(2,14,1) I o/e2 TVC (Mean) vs TP delay (c,b,ch)=(2,14,2) I o2 TVC (Mean) vs TP delay (c,b,ch)=(2,14,3) I ore2)
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TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
_ 0/-2 _ 0/-2 - 0/-2 _ 0/-2
TVC (Mean) vs TP delay (c,b,ch)=(2,14,4) TVC (Mean) vs TP delay (c,b,ch)=(2,14,5) TVC (Mean) vs TP delay (c,b,ch)=(2,14,6) TVC (Mean) vs TP delay (c,b,ch)=(2,14,7)
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TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
0/-2 0/-2 0/-2 0/-2
TVC (Mean) vs TP delay (c,b,ch)=(2,14,8] TVC (Mean) vs TP delay (c,b,ch)=(2,14,9, VC (Mean) vs TP delay (c,b,ch)=(2,14,10; VC (Mean) vs TP delay (c,b,ch)=(2,14,11;
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TVC (Mean) vs TP delay (c,b,ch)=(2,15,0) I 0/-2 TVC (Mean) vs TP delay (c,b,ch)=(2,15,1) I 0/-2 TVC (Mean) vs TP delay (c,b,ch)=(2,15,2) I 0/-2 TVC (Mean) vs TP delay (c,b,ch)=(2,15,3) I ore2)
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TVC (Mean) vs TP delay (c,b,ch)=(3,0,0) I o2 TVC (Mean) vs TP delay (c,b,ch)=(3,0,1) I o/e2 TVC (Mean) vs TP delay (c,b,ch)=(3,0,2) I o2 TVC (Mean) vs TP delay (c,b,ch)=(3,0,3) I ore2)
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TVC (Mean) vs TP delay (c,b,ch)=(3,1,0) I o2 TVC (Mean) vs TP delay (c,b,ch)=(3,1,1) I o/e2 TVC (Mean) vs TP delay (c,b,ch)=(3,1,2) I o2 TVC (Mean) vs TP delay (c,b,ch)=(3,1,3) I ore2)
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TVC (Mean) vs TP delay (c,b,ch)=(3,2,0) I o2 TVC (Mean) vs TP delay (c,b,ch)=(3,2,1) I o/e2 TVC (Mean) vs TP delay (c,b,ch)=(3,2,2) I o2 TVC (Mean) vs TP delay (c,b,ch)=(3,2,3) I ore2)
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TVC (Mean) vs TP delay (c,b,ch)=(3,3,0) I o2 TVC (Mean) vs TP delay (c,b,ch)=(3,3,1) I o/e2 TVC (Mean) vs TP delay (c,b,ch)=(3,3,2) I o2 TVC (Mean) vs TP delay (c,b,ch)=(3,3,3) I ore2)
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TVC (Mean) vs TP delay (c,b,ch)=(3,4,0) I o2 TVC (Mean) vs TP delay (c,b,ch)=(3,4,1) I o/e2 TVC (Mean) vs TP delay (c,b,ch)=(3,4,2) I o2 TVC (Mean) vs TP delay (c,b,ch)=(3,4,3) I ore2)
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TVC (Mean) vs TP delay (c,b,ch)=(3,5,0) I o2 TVC (Mean) vs TP delay (c,b,ch)=(3,5,1) I o/e2 TVC (Mean) vs TP delay (c,b,ch)=(3,5,2) I o2 TVC (Mean) vs TP delay (c,b,ch)=(3,5,3) I ore2)
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TVC (Mean) vs TP delay (c,b,ch)=(3,6,0) I o2 TVC (Mean) vs TP delay (c,b,ch)=(3,6,1) I o/e2 TVC (Mean) vs TP delay (c,b,ch)=(3,6,2) I o2 TVC (Mean) vs TP delay (c,b,ch)=(3,6,3) I ore2)
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TVC (Mean) vs TP delay (c,b,ch)=(3,7,0) I o2 TVC (Mean) vs TP delay (c,b,ch)=(3,7,1) I o/e2 TVC (Mean) vs TP delay (c,b,ch)=(3,7,2) I o2 TVC (Mean) vs TP delay (c,b,ch)=(3,7,3) I ore2)
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TVC (Mean) vs TP delay (c,b,ch)=(3,7,8) TVC (Mean) vs TP delay (c,b,ch)=(3,7,9) TVC (Mean) vs TP delay (c,b,ch)=(3,7,10) TVC (Mean) vs TP delay (c,b,ch)=(3,7,11)
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TVC (Mean) vs TP delay (c,b,ch)=(3,8,0) I o2 TVC (Mean) vs TP delay (c,b,ch)=(3,8,1) I o/e2 TVC (Mean) vs TP delay (c,b,ch)=(3,8,2) I o2 TVC (Mean) vs TP delay (c,b,ch)=(3,8,3) I ore2)
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(Mean) vs TP delay (c,b,ch)=(3,8,4) TVC (Mean) vs TP delay (c,b,ch)=(3,8,5) TVC (Mean) vs TP delay (c,b,ch)=(3,8,6) TVC (Mean) vs TP delay (c,b,ch)=(3,8,7)
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TVC (Mean) vs TP delay (c,b,ch)=(3,8,8) TVC (Mean) vs TP delay (c,b,ch)=(3,8,9) TVC (Mean) vs TP delay (c,b,ch)=(3,8,10) TVC (Mean) vs TP delay (c,b,ch)=(3,8,11)
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TVC (Mean) vs TP delay (c,b,ch)=(3,9,0) I o2 TVC (Mean) vs TP delay (c,b,ch)=(3,9,1) I o/e2 TVC (Mean) vs TP delay (c,b,ch)=(3,9,2) I o2 TVC (Mean) vs TP delay (c,b,ch)=(3,9,3) I ore2)
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(Mean) vs TP delay (c,b,ch)=(3,9,4) TVC (Mean) vs TP delay (c,b,ch)=(3,9,5) TVC (Mean) vs TP delay (c,b,ch)=(3,9,6) TVC (Mean) vs TP delay (c,b,ch)=(3,9,7)
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TVC (Mean) vs TP delay (c,b,ch)=(3,9,8) TVC (Mean) vs TP delay (c,b,ch)=(3,9,9) TVC (Mean) vs TP delay (c,b,ch)=(3,9,10) TVC (Mean) vs TP delay (c,b,ch)=(3,9,11)
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(Mean) vs TP delay (c,b,ch)=(3,9,12) TVC (Mean) vs TP delay (c,b,ch)=(3,9,13) TVC (Mean) vs TP delay (c,b,ch)=(3,9,14) TVC (Mean) vs TP delay (c,b,ch)=(3,9,15)
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TVC (Mean) vs TP delay (c,b,ch)=(3,10,0) I o2 TVC (Mean) vs TP delay (c,b,ch)=(3,10,1) I o/e2 TVC (Mean) vs TP delay (c,b,ch)=(3,10,2) I o2 TVC (Mean) vs TP delay (c,b,ch)=(3,10,3) I ore2)
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TVC (Mean) vs TP delay (c,b,ch)=(3,10,4) TVC (Mean) vs TP delay (c,b,ch)=(3,10,5) TVC (Mean) vs TP delay (c,b,ch)=(3,10,6) TVC (Mean) vs TP delay (c,b,ch)=(3,10,7)
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TVC (Mean) vs TP delay (c,b,ch)=(3,11,0) I 0/-2 TVC (Mean) vs TP delay (c,b,ch)=(3,11,1) I 0/-2 TVC (Mean) vs TP delay (c,b,ch)=(3,11,2) I 0/-2 TVC (Mean) vs TP delay (c,b,ch)=(3,11,3) I ore2)
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TVC (Mean) vs TP delay (c,b,ch)=(3,11,4) TVC (Mean) vs TP delay (c,b,ch)=(3,11,5) TVC (Mean) vs TP delay (c,b,ch)=(3,11,6) TVC (Mean) vs TP delay (c,b,ch)=(3,11,7)
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TVC (Mean) vs TP delay (c,b,ch)=(3,11,8, TVC (Mean) vs TP delay (c,b,ch)=(3,11,9; VC (Mean) vs TP delay (c,b,ch)=(3,11,10 VC (Mean) vs TP delay (c,b,ch)=(3,11,11]
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(Mean) vs TP delay (c,b,ch)=(3,11,12) VC (Mean) vs TP delay (c,b,ch)=(3,11,13) VC (Mean) vs TP delay (c,b,ch)=(3,11,14) VC (Mean) vs TP delay (c,b,ch)=(3,11,15)
0+1.4 0+14 0+14 0+1.4
s [p1 0:14 s [p1 014 s [p1 014 1+ [p1 014
0.5f 0.5 0.5} 0.5
0 0 0 0
-0.5}- -0.5f -0.51- -0.5}-
fy A I T T T T iy T I T T T T iy A I T B T T iy A I T B T T
60 60
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



TVC (Mean) vs TP delay (c,b,ch)=(4,0,0) I 0/-2 TVC (Mean) vs TP delay (c,b,ch)=(4,0,1) I 0/-2 TVC (Mean) vs TP delay (c,b,ch)=(4,0,2) I 0/-2 TVC (Mean) vs TP delay (c,b,ch)=(4,0,3) I ore2)
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TVC (Mean) vs TP delay (c,b,ch)=(4,0,4) TVC (Mean) vs TP delay (c,b,ch)=(4,0,5) TVC (Mean) vs TP delay (c,b,ch)=(4,0,6) TVC (Mean) vs TP delay (c,b,ch)=(4,0,7)
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TVC (Mean) vs TP delay (c,b,ch)=(4,0,8) TVC (Mean) vs TP delay (c,b,ch)=(4,0,9) TVC (Mean) vs TP delay (c,b,ch)=(4,0,10) TVC (Mean) vs TP delay (c,b,ch)=(4,0,11)
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(Mean) vs TP delay (c,b,ch)=(4,0,12) TVC (Mean) vs TP delay (c,b,ch)=(4,0,13) TVC (Mean) vs TP delay (c,b,ch)=(4,0,14) TVC (Mean) vs TP delay (c,b,ch)=(4,0,15)
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TVC (Mean) vs TP delay (c,b,ch)=(4,1,0) I o2 TVC (Mean) vs TP delay (c,b,ch)=(4,1,1) I o/e2 TVC (Mean) vs TP delay (c,b,ch)=(4,1,2) I o2 TVC (Mean) vs TP delay (c,b,ch)=(4,1,3) I ore2)
0+1.4 0+£14 0+14 0+1.4
s [p1 0+14 s [p1 014 s [p1 014 s [p1 014
0.5 0.5 0.5 05
0 0 0 0
-0.5F- -0.5f -0.5F- -0.5F-
af af af af
1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
0 20 40 60 80 100 20 40 60 80 100 0 20 40 60 80 100 20 40 60 80 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
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TVC (Mean) vs TP delay (c,b,ch)=(4,1,4) TVC (Mean) vs TP delay (c,b,ch)=(4,1,5) TVC (Mean) vs TP delay (c,b,ch)=(4,1,6) TVC (Mean) vs TP delay (c,b,ch)=(4,1,7)
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TVC (Mean) vs TP delay (c,b,ch)=(4,1,8) TVC (Mean) vs TP delay (c,b,ch)=(4,1,9) TVC (Mean) vs TP delay (c,b,ch)=(4,1,10) TVC (Mean) vs TP delay (c,b,ch)=(4,1,11)
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TVC (Mean) vs TP delay (c,b,ch)=(4,1,12) TVC (Mean) vs TP delay (c,b,ch)=(4,1,13) TVC (Mean) vs TP delay (c,b,ch)=(4,1,14) TVC (Mean) vs TP delay (c,b,ch)=(4,1,15)
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TVC (Mean) vs TP delay (c,b,ch)=(4,2,0) I 0/-2 TVC (Mean) vs TP delay (c,b,ch)=(4,2,1) I 0/-2 TVC (Mean) vs TP delay (c,b,ch)=(4,2,2) I 0/-2 TVC (Mean) vs TP delay (c,b,ch)=(4,2,3) I ore2)
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(Mean) vs TP delay (c,b,ch)=(4,2,4) TVC (Mean) vs TP delay (c,b,ch)=(4,2,5) TVC (Mean) vs TP delay (c,b,ch)=(4,2,6) TVC (Mean) vs TP delay (c,b,ch)=(4,2,7)
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_ 0/-2 _ 0/-2 _ 0/-2 _ 0/-2
TVC (Mean) vs TP delay (c,b,ch)=(4,2,8) TVC (Mean) vs TP delay (c,b,ch)=(4,2,9) TVC (Mean) vs TP delay (c,b,ch)=(4,2,10) TVC (Mean) vs TP delay (c,b,ch)=(4,2,11)
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TVC (Mean) vs TP delay (c,b,ch)=(4,2,12) TVC (Mean) vs TP delay (c,b,ch)=(4,2,13) TVC (Mean) vs TP delay (c,b,ch)=(4,2,14) TVC (Mean) vs TP delay (c,b,ch)=(4,2,15)
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TVC (Mean) vs TP delay (c,b,ch)=(4,3,0) I o2 TVC (Mean) vs TP delay (c,b,ch)=(4,3,1) I o/e2 TVC (Mean) vs TP delay (c,b,ch)=(4,3,2) I o2 TVC (Mean) vs TP delay (c,b,ch)=(4,3,3) I ore2)
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- 0/-2 _ 0/-2 _ 0/-2 - 0/-2
TVC (Mean) vs TP delay (c,b,ch)=(4,3,4) TVC (Mean) vs TP delay (c,b,ch)=(4,3,5) TVC (Mean) vs TP delay (c,b,ch)=(4,3,6) TVC (Mean) vs TP delay (c,b,ch)=(4,3,7)
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TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
_ 0/-2 _ 0/-2 _ 0/-2 _ 0/-2
TVC (Mean) vs TP delay (c,b,ch)=(4,3,8) TVC (Mean) vs TP delay (c,b,ch)=(4,3,9) TVC (Mean) vs TP delay (c,b,ch)=(4,3,10) TVC (Mean) vs TP delay (c,b,ch)=(4,3,11)
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Tve _ 0/-2 _ 0/-2 _ 0/-2 _ 0/-2
(Mean) vs TP delay (c,b,ch)=(4,3,12) TVC (Mean) vs TP delay (c,b,ch)=(4,3,13) TVC (Mean) vs TP delay (c,b,ch)=(4,3,14) TVC (Mean) vs TP delay (c,b,ch)=(4,3,15)
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TVC (Mean) vs TP delay (c,b,ch)=(4,4,0) I o2 TVC (Mean) vs TP delay (c,b,ch)=(4,4,1) I o/e2 TVC (Mean) vs TP delay (c,b,ch)=(4,4,2) I o2 TVC (Mean) vs TP delay (c,b,ch)=(4,4,3) I ore2)
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- 0/-2 _ 0/-2 _ 0/-2 - 0/-2
TVC (Mean) vs TP delay (c,b,ch)=(4,4,4) TVC (Mean) vs TP delay (c,b,ch)=(4,4,5) TVC (Mean) vs TP delay (c,b,ch)=(4,4,6) TVC (Mean) vs TP delay (c,b,ch)=(4,4,7)
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TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
_ 0/-2 _ 0/-2 _ 0/-2 _ 0/-2
TVC (Mean) vs TP delay (c,b,ch)=(4,4,8) TVC (Mean) vs TP delay (c,b,ch)=(4,4,9) TVC (Mean) vs TP delay (c,b,ch)=(4,4,10) TVC (Mean) vs TP delay (c,b,ch)=(4,4,11)
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TVC (Mean) vs TP delay (c,b,ch)=(4,4,12) TVC (Mean) vs TP delay (c,b,ch)=(4,4,13) TVC (Mean) vs TP delay (c,b,ch)=(4,4,14) TVC (Mean) vs TP delay (c,b,ch)=(4,4,15)
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TVC (Mean) vs TP delay (c,b,ch)=(4,5,0) I 0/-2 TVC (Mean) vs TP delay (c,b,ch)=(4,5,1) I 0/-2 TVC (Mean) vs TP delay (c,b,ch)=(4,5,2) I 0/-2 TVC (Mean) vs TP delay (c,b,ch)=(4,5,3) I ore2)
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TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
Ve - 0/-2 _ 0/-2 _ 0/-2 - 0/-2
(Mean) vs TP delay (c,b,ch)=(4,5,4) TVC (Mean) vs TP delay (c,b,ch)=(4,5,5) TVC (Mean) vs TP delay (c,b,ch)=(4,5,6) TVC (Mean) vs TP delay (c,b,ch)=(4,5,7)
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TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
_ 0/-2 _ 0/-2 _ 0/-2 _ 0/-2
TVC (Mean) vs TP delay (c,b,ch)=(4,5,8) TVC (Mean) vs TP delay (c,b,ch)=(4,5,9) TVC (Mean) vs TP delay (c,b,ch)=(4,5,10) TVC (Mean) vs TP delay (c,b,ch)=(4,5,11)
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- 0/-2 _ 0/-2 _ 0/-2 _ 0/-2
TVC (Mean) vs TP delay (c,b,ch)=(4,5,12) TVC (Mean) vs TP delay (c,b,ch)=(4,5,13) TVC (Mean) vs TP delay (c,b,ch)=(4,5,14) TVC (Mean) vs TP delay (c,b,ch)=(4,5,15)
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TVC (Mean) vs TP delay (c,b,ch)=(4,6,0) I o2 TVC (Mean) vs TP delay (c,b,ch)=(4,6,1) I o/e2 TVC (Mean) vs TP delay (c,b,ch)=(4,6,2) I o2 TVC (Mean) vs TP delay (c,b,ch)=(4,6,3) I ore2)
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- 0/-2 _ 0/-2 _ 0/-2 - 0/-2
TVC (Mean) vs TP delay (c,b,ch)=(4,6,4) TVC (Mean) vs TP delay (c,b,ch)=(4,6,5) TVC (Mean) vs TP delay (c,b,ch)=(4,6,6) TVC (Mean) vs TP delay (c,b,ch)=(4,6,7)
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TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
_ 0/-2 _ 0/-2 _ 0/-2 _ 0/-2
TVC (Mean) vs TP delay (c,b,ch)=(4,6,8) TVC (Mean) vs TP delay (c,b,ch)=(4,6,9) TVC (Mean) vs TP delay (c,b,ch)=(4,6,10) TVC (Mean) vs TP delay (c,b,ch)=(4,6,11)
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(Mean) vs TP delay (c,b,ch)=(4,6,12) TVC (Mean) vs TP delay (c,b,ch)=(4,6,13) TVC (Mean) vs TP delay (c,b,ch)=(4,6,14) TVC (Mean) vs TP delay (c,b,ch)=(4,6,15)
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TVC (Mean) vs TP delay (c,b,ch)=(4,7,0) I o2 TVC (Mean) vs TP delay (c,b,ch)=(4,7,1) I o/e2 TVC (Mean) vs TP delay (c,b,ch)=(4,7,2) I o2 TVC (Mean) vs TP delay (c,b,ch)=(4,7,3) I ore2)
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- 0/-2 _ 0/-2 _ 0/-2 - 0/-2
TVC (Mean) vs TP delay (c,b,ch)=(4,7,4) TVC (Mean) vs TP delay (c,b,ch)=(4,7,5) TVC (Mean) vs TP delay (c,b,ch)=(4,7,6) TVC (Mean) vs TP delay (c,b,ch)=(4,7,7)
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TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
_ 0/-2 _ 0/-2 _ 0/-2 _ 0/-2
TVC (Mean) vs TP delay (c,b,ch)=(4,7,8) TVC (Mean) vs TP delay (c,b,ch)=(4,7,9) TVC (Mean) vs TP delay (c,b,ch)=(4,7,10) TVC (Mean) vs TP delay (c,b,ch)=(4,7,11)
- 0+14 . 0+14 - 0+14 . 0£14
s |p1 0+14 1f |p1 0+14 i | p1 014 1 |p1 014
0.5} 05 0.5 0.5}
0 0 0 0
-0.5 -0.5- -0.5 -0.5
E1N -1k At al
1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 L 1 1 |
0 20 40 60 80 100 20 40 60 80 100 0 20 40 60 80 100 0 20 40 60 80 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
- 0/-2 _ 0/-2 _ 0/-2 _ 0/-2
TVC (Mean) vs TP delay (c,b,ch)=(4,7,12) TVC (Mean) vs TP delay (c,b,ch)=(4,7,13) TVC (Mean) vs TP delay (c,b,ch)=(4,7,14) TVC (Mean) vs TP delay (c,b,ch)=(4,7,15)
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TVC (Mean) vs TP delay (c,b,ch)=(4,8,0) I o2 TVC (Mean) vs TP delay (c,b,ch)=(4,8,1) I o/e2 TVC (Mean) vs TP delay (c,b,ch)=(4,8,2) I o2 TVC (Mean) vs TP delay (c,b,ch)=(4,8,3) I ore2)
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- 0/-2 _ 0/-2 _ 0/-2 - 0/-2
TVC (Mean) vs TP delay (c,b,ch)=(4,8,4) TVC (Mean) vs TP delay (c,b,ch)=(4,8,5) TVC (Mean) vs TP delay (c,b,ch)=(4,8,6) TVC (Mean) vs TP delay (c,b,ch)=(4,8,7)
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TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
_ 0/-2 _ 0/-2 _ 0/-2 _ 0/-2
TVC (Mean) vs TP delay (c,b,ch)=(4,8,8) TVC (Mean) vs TP delay (c,b,ch)=(4,8,9) TVC (Mean) vs TP delay (c,b,ch)=(4,8,10) TVC (Mean) vs TP delay (c,b,ch)=(4,8,11)
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Tve _ 0/-2 _ 0/-2 _ 0/-2 _ 0/-2
(Mean) vs TP delay (c,b,ch)=(4,8,12) TVC (Mean) vs TP delay (c,b,ch)=(4,8,13) TVC (Mean) vs TP delay (c,b,ch)=(4,8,14) TVC (Mean) vs TP delay (c,b,ch)=(4,8,15)
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TVC (Mean) vs TP delay (c,b,ch)=(4,9,0) I o2 TVC (Mean) vs TP delay (c,b,ch)=(4,9,1) I o/e2 TVC (Mean) vs TP delay (c,b,ch)=(4,9,2) I o2 TVC (Mean) vs TP delay (c,b,ch)=(4,9,3) I ore2)
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TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
- 0/-2 _ 0/-2 _ 0/-2 - 0/-2
TVC (Mean) vs TP delay (c,b,ch)=(4,9,4) TVC (Mean) vs TP delay (c,b,ch)=(4,9,5) TVC (Mean) vs TP delay (c,b,ch)=(4,9,6) TVC (Mean) vs TP delay (c,b,ch)=(4,9,7)
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TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
_ 0/-2 _ 0/-2 _ 0/-2 _ 0/-2
TVC (Mean) vs TP delay (c,b,ch)=(4,9,8) TVC (Mean) vs TP delay (c,b,ch)=(4,9,9) TVC (Mean) vs TP delay (c,b,ch)=(4,9,10) TVC (Mean) vs TP delay (c,b,ch)=(4,9,11)
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Tve _ 0/-2 _ 0/-2 _ 0/-2 _ 0/-2
(Mean) vs TP delay (c,b,ch)=(4,9,12) TVC (Mean) vs TP delay (c,b,ch)=(4,9,13) TVC (Mean) vs TP delay (c,b,ch)=(4,9,14) TVC (Mean) vs TP delay (c,b,ch)=(4,9,15)
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TVC (Mean) vs TP delay (c,b,ch)=(4,10,0) I o2 TVC (Mean) vs TP delay (c,b,ch)=(4,10,1) I o/e2 TVC (Mean) vs TP delay (c,b,ch)=(4,10,2) I o2 TVC (Mean) vs TP delay (c,b,ch)=(4,10,3) I ore2)
0+1.4 0+£14 0+14 0+1.4
s [p1 0+14 s [p1 014 s [p1 014 s [p1 014
0.5 0.5 0.5 05
0 0 0 0
-0.5F- -0.5f -0.5F- -0.5F-
af af af af
1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
0 20 40 60 80 100 20 40 60 80 100 0 20 40 60 80 100 20 40 60 80 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
_ 0/-2 _ 0/-2 - 0/-2 _ 0/-2
TVC (Mean) vs TP delay (c,b,ch)=(4,10,4) TVC (Mean) vs TP delay (c,b,ch)=(4,10,5) TVC (Mean) vs TP delay (c,b,ch)=(4,10,6) TVC (Mean) vs TP delay (c,b,ch)=(4,10,7)
0+14 0+14 0+14 0+14
s [p1 0+1.4 s [p1 0£14 s [p2 0+14 s [p1 0+14
0.5 051 0.5 05
0 0 0 0
-0.5}- -0.5f -0.51- -0.5}-
-1k -1k -1 -1
1 1 1 1 | 1 1 1 1 1 1 1 1 1 1 1 1 1 1 |
0 20 40 60 80 100 0 20 40 60 80 100 0 20 40 60 80 100 0 20 40 60 80 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
0/-2 0/-2 0/-2 0/-2
TVC (Mean) vs TP delay (c,b,ch)=(4,10,8, TVC (Mean) vs TP delay (c,b,ch)=(4,10,9; VC (Mean) vs TP delay (c,b,ch)=(4,10,10 VC (Mean) vs TP delay (c,b,ch)=(4,10,11]
(Mean) y Chon | 2 (Mean) y Cbn | 2] fvewen y Cbon: | 2 bvewean y Cbcht | 202
s |p1 0+14 1f |p1 0+14 i | p1 014 1 |p1 014
0.5} 05 0.5 0.5}
0 0 0 0
-0.5 -0.5- -0.5 -0.5
-1 -1 -1 -1}
1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 L 1 1 |
0 20 40 60 80 100 20 40 60 80 100 0 20 40 60 80 100 0 20 40 60 80 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
- 0/-2 - 0/-2 _ 0/-2 _ 0/-2
C (Mean) vs TP delay (c,b,ch)=(4,10,12) VC (Mean) vs TP delay (c,b,ch)=(4,10,13) VC (Mean) vs TP delay (c,b,ch)=(4,10,14) VC (Mean) vs TP delay (c,b,ch)=(4,10,15)
0+1.4 0+14 0+14 0+1.4
s [p1 0:14 s [p1 014 s [p1 014 1+ [p1 014
0.5f 0.5 0.5} 0.5
0 0 0 0
-0.5}- -0.5f -0.51- -0.5}-
fy A I T T T T iy T I T T T T iy A I T B T T iy A I T B T T
60 60 80
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]




TVC (Mean) vs TP delay (c,b,ch)=(4,11,0) I o2 TVC (Mean) vs TP delay (c,b,ch)=(4,11,1) I o/e2 TVC (Mean) vs TP delay (c,b,ch)=(4,11,2) I o2 TVC (Mean) vs TP delay (c,b,ch)=(4,11,3) I ore2)
0+1.4 0+£14 0+14 0+1.4
s [p1 0+14 s [p1 014 s [p1 014 s [p1 014
0.5 0.5 0.5 05
0 0 0 0
-0.5F- -0.5f -0.5F- -0.5F-
af af af af
1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
0 20 40 60 80 100 20 40 60 80 100 0 20 40 60 80 100 20 40 60 80 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
_ 0/-2 _ 0/-2 - 0/-2 _ 0/-2
TVC (Mean) vs TP delay (c,b,ch)=(4,11,4) TVC (Mean) vs TP delay (c,b,ch)=(4,11,5) TVC (Mean) vs TP delay (c,b,ch)=(4,11,6) TVC (Mean) vs TP delay (c,b,ch)=(4,11,7)
0+14 0+14 0+14 0+14
s [p1 0+1.4 s [p1 0£14 s [p2 0+14 s [p1 0+14
0.5 051 0.5 05
0 0 0 0
-0.5}- -0.5f -0.51- -0.5}-
-1 -1 -1 -1
1 1 1 1 | 1 1 1 1 1 1 1 1 1 1 1 1 1 1 |
0 20 40 60 80 100 0 20 40 60 80 100 0 20 40 60 80 100 0 20 40 60 80 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
0/-2 0/-2 0/-2 0/-2
TVC (Mean) vs TP delay (c,b,ch)=(4,11,8] TVC (Mean) vs TP delay (c,b,ch)=(4,11,9, VC (Mean) vs TP delay (c,b,ch)=(4,11,10; VC (Mean) vs TP delay (c,b,ch)=(4,11,11;
(Mean) y Chon | 2 (Mean) y Cbn | 2] fvewen y Cbon: | 2 bvewean y Cbcht | 202
s |p1 0+14 1f |p1 0+14 i | p1 014 1 |p1 014
0.5} 05 0.5 0.5}
0 0 0 0
-0.5 -0.5- -0.5 -0.5
-1 -1 -1 -1}
1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 L 1 1 |
0 20 40 60 80 100 20 40 60 80 100 0 20 40 60 80 100 0 20 40 60 80 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
- 0/-2 - 0/-2 _ 0/-2 _ 0/-2
C (Mean) vs TP delay (c,b,ch)=(4,11,12) VC (Mean) vs TP delay (c,b,ch)=(4,11,13) VC (Mean) vs TP delay (c,b,ch)=(4,11,14) VC (Mean) vs TP delay (c,b,ch)=(4,11,15)
0+1.4 0+14 0+14 0+1.4
s [p1 0:14 s [p1 014 s [p1 014 1+ [p1 014
0.5f 0.5 0.5} 0.5
0 0 0 0
-0.5}- -0.5f -0.51- -0.5}-
fy A I T T T T iy T I T T T T iy A I T B T T iy A I T B T T
60 60 80
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]




TVC (Mean) vs TP delay (c,b,ch)=(4,12,0) I o2 TVC (Mean) vs TP delay (c,b,ch)=(4,12,1) I o/e2 TVC (Mean) vs TP delay (c,b,ch)=(4,12,2) I o2 TVC (Mean) vs TP delay (c,b,ch)=(4,12,3) I ore2)
0+1.4 0+£14 0+14 0+1.4
s [p1 0+14 s [p1 014 s [p1 014 s [p1 014
0.5 0.5 0.5 05
0 0 0 0
-0.5F- -0.5f -0.5F- -0.5F-
af af af af
1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
0 20 40 60 80 100 20 40 60 80 100 0 20 40 60 80 100 20 40 60 80 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
_ 0/-2 _ 0/-2 - 0/-2 _ 0/-2
TVC (Mean) vs TP delay (c,b,ch)=(4,12,4) TVC (Mean) vs TP delay (c,b,ch)=(4,12,5) TVC (Mean) vs TP delay (c,b,ch)=(4,12,6) TVC (Mean) vs TP delay (c,b,ch)=(4,12,7)
0+14 0+14 0+14 0+14
s [p1 0+1.4 s [p1 0£14 s [p2 0+14 s [p1 0+14
0.5 051 0.5 05
0 0 0 0
-0.5}- -0.5f -0.51- -0.5}-
-1k -1k -1 -1
1 1 1 1 | 1 1 1 1 1 1 1 1 1 1 1 1 1 1 |
0 20 40 60 80 100 0 20 40 60 80 100 0 20 40 60 80 100 0 20 40 60 80 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
0/-2 0/-2 0/-2 0/-2
TVC (Mean) vs TP delay (c,b,ch)=(4,12,8] TVC (Mean) vs TP delay (c,b,ch)=(4,12,9, VC (Mean) vs TP delay (c,b,ch)=(4,12,10; VC (Mean) vs TP delay (c,b,ch)=(4,12,11;
(Mean) y Chon | 2 (Mean) y Cbn | 2] fvewen y Cbon: | 2 bvewean y Cbcht | 202
s |p1 0+14 1f |p1 0+14 i | p1 014 1 |p1 014
0.5} 05 0.5 0.5}
0 0 0 0
-0.5 -0.5- -0.5 -0.5
-1 -1 -1 -1}
1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 L 1 1 |
0 20 40 60 80 100 20 40 60 80 100 0 20 40 60 80 100 0 20 40 60 80 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
c _ 0/-2 _ 0/-2 _ 0/-2 _ 0/-2
(Mean) vs TP delay (c,b,ch)=(4,12,12) VC (Mean) vs TP delay (c,b,ch)=(4,12,13) VC (Mean) vs TP delay (c,b,ch)=(4,12,14) VC (Mean) vs TP delay (c,b,ch)=(4,12,15)
0+1.4 0+14 0+14 0+1.4
s [p1 0:14 s [p1 014 s [p1 014 1+ [p1 014
0.5f 0.5 0.5} 0.5
0 0 0 0
-0.5}- -0.5f -0.51- -0.5}-
fy A I T T T T iy T I T T T T iy A I T B T T iy A I T B T T
60 60 80
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]




TVC (Mean) vs TP delay (c,b,ch)=(4,13,0) I o2 TVC (Mean) vs TP delay (c,b,ch)=(4,13,1) I o/e2 TVC (Mean) vs TP delay (c,b,ch)=(4,13,2) I o2 TVC (Mean) vs TP delay (c,b,ch)=(4,13,3) I ore2)
0+1.4 0+£14 0+14 0+1.4
s [p1 0+14 s [p1 014 s [p1 014 s [p1 014
0.5 0.5 0.5 05
0 0 0 0
-0.5F- -0.5f -0.5F- -0.5F-
af af af af
1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
0 20 40 60 80 100 20 40 60 80 100 0 20 40 60 80 100 20 40 60 80 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
_ 0/-2 _ 0/-2 - 0/-2 _ 0/-2
TVC (Mean) vs TP delay (c,b,ch)=(4,13,4) TVC (Mean) vs TP delay (c,b,ch)=(4,13,5) TVC (Mean) vs TP delay (c,b,ch)=(4,13,6) TVC (Mean) vs TP delay (c,b,ch)=(4,13,7)
0+14 0+14 0+14 0+14
s [p1 0+1.4 s [p1 0£14 s [p2 0+14 s [p1 0+14
0.5 051 0.5 05
0 0 0 0
-0.5}- -0.5f -0.51- -0.5}-
-1k -1k -1 -1
1 1 1 1 | 1 1 1 1 1 1 1 1 1 1 1 1 1 1 |
0 20 40 60 80 100 0 20 40 60 80 100 0 20 40 60 80 100 0 20 40 60 80 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
0/-2 0/-2 0/-2 0/-2
TVC (Mean) vs TP delay (c,b,ch)=(4,13,8, TVC (Mean) vs TP delay (c,b,ch)=(4,13,9; VC (Mean) vs TP delay (c,b,ch)=(4,13,10 VC (Mean) vs TP delay (c,b,ch)=(4,13,11]
(Mean) y Chon | 2 (Mean) y Cbn | 2] fvewen y Cbon: | 2 bvewean y Cbcht | 202
s |p1 0+14 1f |p1 0+14 i | p1 014 1 |p1 014
0.5} 05 0.5 0.5}
0 0 0 0
-0.5 -0.5- -0.5 -0.5
-1 -1 -1 -1}
1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 L 1 1 |
0 20 40 60 80 100 20 40 60 80 100 0 20 40 60 80 100 0 20 40 60 80 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
- 0/-2 - 0/-2 _ 0/-2 _ 0/-2
C (Mean) vs TP delay (c,b,ch)=(4,13,12) VC (Mean) vs TP delay (c,b,ch)=(4,13,13) VC (Mean) vs TP delay (c,b,ch)=(4,13,14) VC (Mean) vs TP delay (c,b,ch)=(4,13,15)
0+1.4 0+14 0+14 0+1.4
s [p1 0:14 s [p1 014 s [p1 014 1+ [p1 014
0.5f 0.5 0.5} 0.5
0 0 0 0
-0.5}- -0.5f -0.51- -0.5}-
fy A I T T T T iy T I T T T T iy A I T B T T iy A I T B T T
60 60 80
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]




TVC (Mean) vs TP delay (c,b,ch)=(4,14,0) I o2 TVC (Mean) vs TP delay (c,b,ch)=(4,14,1) I o/e2 TVC (Mean) vs TP delay (c,b,ch)=(4,14,2) I o2 TVC (Mean) vs TP delay (c,b,ch)=(4,14,3) I ore2)
0+1.4 0+£14 0+14 0+1.4
s [p1 0+14 s [p1 014 s [p1 014 s [p1 014
0.5 0.5 0.5 05
0 0 0 0
-0.5F- -0.5f -0.5F- -0.5F-
af af af af
1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
0 20 40 60 80 100 20 40 60 80 100 0 20 40 60 80 100 20 40 60 80 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
_ 0/-2 _ 0/-2 - 0/-2 _ 0/-2
TVC (Mean) vs TP delay (c,b,ch)=(4,14,4) TVC (Mean) vs TP delay (c,b,ch)=(4,14,5) TVC (Mean) vs TP delay (c,b,ch)=(4,14,6) TVC (Mean) vs TP delay (c,b,ch)=(4,14,7)
0+14 0+14 0+14 0+14
s [p1 0+1.4 s [p1 0£14 s [p2 0+14 s [p1 0+14
0.5 051 0.5 05
0 0 0 0
-0.5}- -0.5f -0.51- -0.5}-
-1 -1 -1 -1
1 1 1 1 | 1 1 1 1 1 1 1 1 1 1 1 1 1 1 |
0 20 40 60 80 100 0 20 40 60 80 100 0 20 40 60 80 100 0 20 40 60 80 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
0/-2 0/-2 0/-2 0/-2
TVC (Mean) vs TP delay (c,b,ch)=(4,14,8] TVC (Mean) vs TP delay (c,b,ch)=(4,14,9, VC (Mean) vs TP delay (c,b,ch)=(4,14,10; VC (Mean) vs TP delay (c,b,ch)=(4,14,11,
(Mean) y Chon | 2 (Mean) y Cbn | 2] fvewen y Cbon: | 2 bvewean y Cbcht | 202
s |p1 0+14 1f |p1 0+14 i | p1 014 1 |p1 014
0.5} 05 0.5 0.5}
0 0 0 0
-0.5 -0.5- -0.5 -0.5
-1 -1 -1 -1}
1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 L 1 1 |
0 20 40 60 80 100 20 40 60 80 100 0 20 40 60 80 100 0 20 40 60 80 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
- 0/-2 - 0/-2 _ 0/-2 _ 0/-2
C (Mean) vs TP delay (c,b,ch)=(4,14,12) VC (Mean) vs TP delay (c,b,ch)=(4,14,13) VC (Mean) vs TP delay (c,b,ch)=(4,14,14) VC (Mean) vs TP delay (c,b,ch)=(4,14,15)
0+1.4 0+14 0+14 0+1.4
s [p1 0:14 s [p1 014 s [p1 014 1+ [p1 014
0.5f 0.5 0.5} 0.5
0 0 0 0
-0.5}- -0.5f -0.51- -0.5}-
fy A I T T T T iy T I T T T T iy A I T B T T iy A I T B T T
60 60 80
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]




TVC (Mean) vs TP delay (c,b,ch)=(4,15,0) I o2 TVC (Mean) vs TP delay (c,b,ch)=(4,15,1) I o/e2 TVC (Mean) vs TP delay (c,b,ch)=(4,15,2) I o2 TVC (Mean) vs TP delay (c,b,ch)=(4,15,3) I ore2)
0+1.4 0+£14 0+14 0+1.4
s [p1 0+14 s [p1 014 s [p1 014 s [p1 014
0.5 0.5 0.5 05
0 0 0 0
-0.5F- -0.5f -0.5F- -0.5F-
af af af af
1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
0 20 40 60 80 100 20 40 60 80 100 0 20 40 60 80 100 20 40 60 80 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
_ 0/-2 _ 0/-2 - 0/-2 _ 0/-2
TVC (Mean) vs TP delay (c,b,ch)=(4,15,4) TVC (Mean) vs TP delay (c,b,ch)=(4,15,5) TVC (Mean) vs TP delay (c,b,ch)=(4,15,6) TVC (Mean) vs TP delay (c,b,ch)=(4,15,7)
0+14 0+14 0+14 0+14
s [p1 0+1.4 s [p1 0£14 s [p2 0+14 s [p1 0+14
0.5 051 0.5 05
0 0 0 0
-0.5}- -0.5f -0.51- -0.5}-
-1k -1k -1 -1
1 1 1 1 | 1 1 1 1 1 1 1 1 1 1 1 1 1 1 |
0 20 40 60 80 100 0 20 40 60 80 100 0 20 40 60 80 100 0 20 40 60 80 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
0/-2 0/-2 0/-2 0/-2
TVC (Mean) vs TP delay (c,b,ch)=(4,15,8, TVC (Mean) vs TP delay (c,b,ch)=(4,15,9; VC (Mean) vs TP delay (c,b,ch)=(4,15,10 VC (Mean) vs TP delay (c,b,ch)=(4,15,11]
(Mean) y Chon | 2 (Mean) y Cbn | 2] fvewen y Cbon: | 2 bvewean y Cbcht | 202
s |p1 0+14 1f |p1 0+14 i | p1 014 1 |p1 014
0.5} 05 0.5 0.5}
0 0 0 0
-0.5 -0.5- -0.5 -0.5
-1 -1 -1 -1}
1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 L 1 1 |
0 20 40 60 80 100 20 40 60 80 100 0 20 40 60 80 100 0 20 40 60 80 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
c _ 0/-2 _ 0/-2 _ 0/-2 _ 0/-2
(Mean) vs TP delay (c,b,ch)=(4,15,12) VC (Mean) vs TP delay (c,b,ch)=(4,15,13) VC (Mean) vs TP delay (c,b,ch)=(4,15,14) VC (Mean) vs TP delay (c,b,ch)=(4,15,15)
0+1.4 0+14 0+14 0+1.4
s [p1 0:14 s [p1 014 s [p1 014 1+ [p1 014
0.5f 0.5 0.5} 0.5
0 0 0 0
-0.5}- -0.5f -0.51- -0.5}-
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60 60 80
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]




TVC (Mean) vs TP delay (c,b,ch)=(5,0,0) I o2 TVC (Mean) vs TP delay (c,b,ch)=(5,0,1) I o/e2 TVC (Mean) vs TP delay (c,b,ch)=(5,0,2) I o2 TVC (Mean) vs TP delay (c,b,ch)=(5,0,3) I ore2)
0+1.4 0+£14 0+14 0+1.4
s [p1 0+14 s [p1 014 s [p1 014 s [p1 014
0.5 0.5 0.5 05
0 0 0 0
-0.5F- -0.5f -0.5F- -0.5F-
af af af af
1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
0 20 40 60 80 100 20 40 60 80 100 0 20 40 60 80 100 20 40 60 80 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
- 0/-2 _ 0/-2 _ 0/-2 - 0/-2
TVC (Mean) vs TP delay (c,b,ch)=(5,0,4) TVC (Mean) vs TP delay (c,b,ch)=(5,0,5) TVC (Mean) vs TP delay (c,b,ch)=(5,0,6) TVC (Mean) vs TP delay (c,b,ch)=(5,0,7)
0+14 0+14 0+14 0+14
s [p1 0+1.4 s [p1 0£14 s [p2 0+14 s [p1 0+14
0.5 051 0.5 05
0 0 0 0
-0.5}- -0.5f -0.51- -0.5}-
-1k -1k -1 -1
1 1 1 1 | 1 1 1 1 1 1 1 1 1 1 1 1 1 1 |
0 20 40 60 80 100 0 20 40 60 80 100 0 20 40 60 80 100 0 20 40 60 80 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
_ 0/-2 _ 0/-2 _ 0/-2 _ 0/-2
TVC (Mean) vs TP delay (c,b,ch)=(5,0,8) TVC (Mean) vs TP delay (c,b,ch)=(5,0,9) TVC (Mean) vs TP delay (c,b,ch)=(5,0,10) TVC (Mean) vs TP delay (c,b,ch)=(5,0,11)
- 0+14 . 0+14 - 0+14 . 0£14
s |p1 0+14 1f |p1 0+14 i | p1 014 1 |p1 014
0.5} 05 0.5 0.5}
0 0 0 0
-0.5 -0.5- -0.5 -0.5
-1 -1 -1 -1}
1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 L 1 1 |
0 20 40 60 80 100 20 40 60 80 100 0 20 40 60 80 100 0 20 40 60 80 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
- 0/-2 _ 0/-2 _ 0/-2 _ 0/-2
TVC (Mean) vs TP delay (c,b,ch)=(5,0,12) TVC (Mean) vs TP delay (c,b,ch)=(5,0,13) TVC (Mean) vs TP delay (c,b,ch)=(5,0,14) TVC (Mean) vs TP delay (c,b,ch)=(5,0,15)
0+1.4 0+14 0+14 0+1.4
s [p1 0:14 s [p1 014 s [p1 014 1+ [p1 014
0.5f 0.5 0.5} 0.5
0 0 0 0
-0.5}- -0.5f -0.51- -0.5}-
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60 60
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]




TVC (Mean) vs TP delay (c,b,ch)=(5,1,0) I 0/-2 TVC (Mean) vs TP delay (c,b,ch)=(5,1,1) I 0/-2 TVC (Mean) vs TP delay (c,b,ch)=(5,1,2) I 0/-2 TVC (Mean) vs TP delay (c,b,ch)=(5,1,3) I ore2)
0+1.4 0+£14 0+14 0+1.4
s [p1 0+14 s [p1 014 s [p1 014 s [p1 014
0.5 0.5 0.5 05
0 0 0 0
-0.5F- -0.5f -0.5F- -0.5F-
-1 -1 -1 -1
1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
0 20 40 60 80 100 20 40 60 80 100 0 20 40 60 80 100 20 40 60 80 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
Ve - 0/-2 _ 0/-2 _ 0/-2 - 0/-2
(Mean) vs TP delay (c,b,ch)=(5,1,4) TVC (Mean) vs TP delay (c,b,ch)=(5,1,5) TVC (Mean) vs TP delay (c,b,ch)=(5,1,6) TVC (Mean) vs TP delay (c,b,ch)=(5,1,7)
0+14 0+14 0+14 0+14
s [p1 0+1.4 s [p1 0£14 s [p2 0+14 s [p1 0+14
0.5 051 0.5 05
0 0 0 0
-0.5}- -0.5f -0.51- -0.5}-
-1k -1k -1 -1
1 1 1 1 | 1 1 1 1 1 1 1 1 1 1 1 1 1 1 |
0 20 40 60 80 100 0 20 40 60 80 100 0 20 40 60 80 100 0 20 40 60 80 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
_ 0/-2 _ 0/-2 _ 0/-2 _ 0/-2
TVC (Mean) vs TP delay (c,b,ch)=(5,1,8) TVC (Mean) vs TP delay (c,b,ch)=(5,1,9) TVC (Mean) vs TP delay (c,b,ch)=(5,1,10) TVC (Mean) vs TP delay (c,b,ch)=(5,1,11)
- 0+14 . 0+14 - 0+14 . 0£14
s |p1 0+14 1f |p1 0+14 i | p1 014 1 |p1 014
0.5} 05 0.5 0.5}
0 0 0 0
-0.5 -0.5- -0.5 -0.5
-1 -1 -1 -1}
1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 L 1 1 |
0 20 40 60 80 100 20 40 60 80 100 0 20 40 60 80 100 0 20 40 60 80 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
- 0/-2 _ 0/-2 _ 0/-2 _ 0/-2
TVC (Mean) vs TP delay (c,b,ch)=(5,1,12) TVC (Mean) vs TP delay (c,b,ch)=(5,1,13) TVC (Mean) vs TP delay (c,b,ch)=(5,1,14) TVC (Mean) vs TP delay (c,b,ch)=(5,1,15)
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TVC (Mean) vs TP delay (c,b,ch)=(5,2,0) I o2 TVC (Mean) vs TP delay (c,b,ch)=(5,2,1) I o/e2 TVC (Mean) vs TP delay (c,b,ch)=(5,2,2) I o2 TVC (Mean) vs TP delay (c,b,ch)=(5,2,3) I ore2)
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TVC (Mean) vs TP delay (c,b,ch)=(5,2,8) TVC (Mean) vs TP delay (c,b,ch)=(5,2,9) TVC (Mean) vs TP delay (c,b,ch)=(5,2,10) TVC (Mean) vs TP delay (c,b,ch)=(5,2,11)
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(Mean) vs TP delay (c,b,ch)=(5,2,12) TVC (Mean) vs TP delay (c,b,ch)=(5,2,13) TVC (Mean) vs TP delay (c,b,ch)=(5,2,14) TVC (Mean) vs TP delay (c,b,ch)=(5,2,15)
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TVC (Mean) vs TP delay (c,b,ch)=(5,3,0) I o2 TVC (Mean) vs TP delay (c,b,ch)=(5,3,1) I o/e2 TVC (Mean) vs TP delay (c,b,ch)=(5,3,2) I o2 TVC (Mean) vs TP delay (c,b,ch)=(5,3,3) I ore2)
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- 0/-2 _ 0/-2 _ 0/-2 - 0/-2
TVC (Mean) vs TP delay (c,b,ch)=(5,3,4) TVC (Mean) vs TP delay (c,b,ch)=(5,3,5) TVC (Mean) vs TP delay (c,b,ch)=(5,3,6) TVC (Mean) vs TP delay (c,b,ch)=(5,3,7)
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TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
_ 0/-2 _ 0/-2 _ 0/-2 _ 0/-2
TVC (Mean) vs TP delay (c,b,ch)=(5,3,8) TVC (Mean) vs TP delay (c,b,ch)=(5,3,9) TVC (Mean) vs TP delay (c,b,ch)=(5,3,10) TVC (Mean) vs TP delay (c,b,ch)=(5,3,11)
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TVC (Mean) vs TP delay (c,b,ch)=(5,3,12) TVC (Mean) vs TP delay (c,b,ch)=(5,3,13) TVC (Mean) vs TP delay (c,b,ch)=(5,3,14) TVC (Mean) vs TP delay (c,b,ch)=(5,3,15)
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TVC (Mean) vs TP delay (c,b,ch)=(5,4,0) I 0/-2 TVC (Mean) vs TP delay (c,b,ch)=(5,4,1) I 0/-2 TVC (Mean) vs TP delay (c,b,ch)=(5,4,2) I 0/-2 TVC (Mean) vs TP delay (c,b,ch)=(5,4,3) I ore2)
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(Mean) vs TP delay (c,b,ch)=(5,4,4) TVC (Mean) vs TP delay (c,b,ch)=(5,4,5) TVC (Mean) vs TP delay (c,b,ch)=(5,4,6) TVC (Mean) vs TP delay (c,b,ch)=(5,4,7)
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_ 0/-2 _ 0/-2 _ 0/-2 _ 0/-2
TVC (Mean) vs TP delay (c,b,ch)=(5,4,8) TVC (Mean) vs TP delay (c,b,ch)=(5,4,9) TVC (Mean) vs TP delay (c,b,ch)=(5,4,10) TVC (Mean) vs TP delay (c,b,ch)=(5,4,11)
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TVC (Mean) vs TP delay (c,b,ch)=(5,4,12) TVC (Mean) vs TP delay (c,b,ch)=(5,4,13) TVC (Mean) vs TP delay (c,b,ch)=(5,4,14) TVC (Mean) vs TP delay (c,b,ch)=(5,4,15)
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TVC (Mean) vs TP delay (c,b,ch)=(5,5,0) I o2 TVC (Mean) vs TP delay (c,b,ch)=(5,5,1) I o/e2 TVC (Mean) vs TP delay (c,b,ch)=(5,5,2) I o2 TVC (Mean) vs TP delay (c,b,ch)=(5,5,3) I ore2)
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- 0/-2 _ 0/-2 _ 0/-2 - 0/-2
TVC (Mean) vs TP delay (c,b,ch)=(5,5,4) TVC (Mean) vs TP delay (c,b,ch)=(5,5,5) TVC (Mean) vs TP delay (c,b,ch)=(5,5,6) TVC (Mean) vs TP delay (c,b,ch)=(5,5,7)
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TVC (Mean) vs TP delay (c,b,ch)=(5,5,8) TVC (Mean) vs TP delay (c,b,ch)=(5,5,9) TVC (Mean) vs TP delay (c,b,ch)=(5,5,10) TVC (Mean) vs TP delay (c,b,ch)=(5,5,11)
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(Mean) vs TP delay (c,b,ch)=(5,5,12) TVC (Mean) vs TP delay (c,b,ch)=(5,5,13) TVC (Mean) vs TP delay (c,b,ch)=(5,5,14) TVC (Mean) vs TP delay (c,b,ch)=(5,5,15)
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TVC (Mean) vs TP delay (c,b,ch)=(5,6,0) I o2 TVC (Mean) vs TP delay (c,b,ch)=(5,6,1) I o/e2 TVC (Mean) vs TP delay (c,b,ch)=(5,6,2) I o2 TVC (Mean) vs TP delay (c,b,ch)=(5,6,3) I ore2)
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TVC (Mean) vs TP delay (c,b,ch)=(5,6,4) TVC (Mean) vs TP delay (c,b,ch)=(5,6,5) TVC (Mean) vs TP delay (c,b,ch)=(5,6,6) TVC (Mean) vs TP delay (c,b,ch)=(5,6,7)
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_ 0/-2 _ 0/-2 _ 0/-2 _ 0/-2
TVC (Mean) vs TP delay (c,b,ch)=(5,6,8) TVC (Mean) vs TP delay (c,b,ch)=(5,6,9) TVC (Mean) vs TP delay (c,b,ch)=(5,6,10) TVC (Mean) vs TP delay (c,b,ch)=(5,6,11)
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TVC (Mean) vs TP delay (c,b,ch)=(5,6,12) TVC (Mean) vs TP delay (c,b,ch)=(5,6,13) TVC (Mean) vs TP delay (c,b,ch)=(5,6,14) TVC (Mean) vs TP delay (c,b,ch)=(5,6,15)
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TVC (Mean) vs TP delay (c,b,ch)=(5,7,0) I 0/-2 TVC (Mean) vs TP delay (c,b,ch)=(5,7,1) I 0/-2 TVC (Mean) vs TP delay (c,b,ch)=(5,7,2) I 0/-2 TVC (Mean) vs TP delay (c,b,ch)=(5,7,3) I ore2)
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(Mean) vs TP delay (c,b,ch)=(5,7,4) TVC (Mean) vs TP delay (c,b,ch)=(5,7,5) TVC (Mean) vs TP delay (c,b,ch)=(5,7,6) TVC (Mean) vs TP delay (c,b,ch)=(5,7,7)
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_ 0/-2 _ 0/-2 _ 0/-2 _ 0/-2
TVC (Mean) vs TP delay (c,b,ch)=(5,7,8) TVC (Mean) vs TP delay (c,b,ch)=(5,7,9) TVC (Mean) vs TP delay (c,b,ch)=(5,7,10) TVC (Mean) vs TP delay (c,b,ch)=(5,7,11)
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TVC (Mean) vs TP delay (c,b,ch)=(5,7,12) TVC (Mean) vs TP delay (c,b,ch)=(5,7,13) TVC (Mean) vs TP delay (c,b,ch)=(5,7,14) TVC (Mean) vs TP delay (c,b,ch)=(5,7,15)
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TVC (Mean) vs TP delay (c,b,ch)=(5,8,0) I o2 TVC (Mean) vs TP delay (c,b,ch)=(5,8,1) I o/e2 TVC (Mean) vs TP delay (c,b,ch)=(5,8,2) I o2 TVC (Mean) vs TP delay (c,b,ch)=(5,8,3) I ore2)
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TVC (Mean) vs TP delay (c,b,ch)=(5,8,4) TVC (Mean) vs TP delay (c,b,ch)=(5,8,5) TVC (Mean) vs TP delay (c,b,ch)=(5,8,6) TVC (Mean) vs TP delay (c,b,ch)=(5,8,7)
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TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
_ 0/-2 _ 0/-2 _ 0/-2 _ 0/-2
TVC (Mean) vs TP delay (c,b,ch)=(5,8,8) TVC (Mean) vs TP delay (c,b,ch)=(5,8,9) TVC (Mean) vs TP delay (c,b,ch)=(5,8,10) TVC (Mean) vs TP delay (c,b,ch)=(5,8,11)
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TVC (Mean) vs TP delay (c,b,ch)=(5,8,12) TVC (Mean) vs TP delay (c,b,ch)=(5,8,13) TVC (Mean) vs TP delay (c,b,ch)=(5,8,14) TVC (Mean) vs TP delay (c,b,ch)=(5,8,15)
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TVC (Mean) vs TP delay (c,b,ch)=(5,9,0) I o2 TVC (Mean) vs TP delay (c,b,ch)=(5,9,1) I o/e2 TVC (Mean) vs TP delay (c,b,ch)=(5,9,2) I o2 TVC (Mean) vs TP delay (c,b,ch)=(5,9,3) I ore2)
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- 0/-2 _ 0/-2 _ 0/-2 - 0/-2
TVC (Mean) vs TP delay (c,b,ch)=(5,9,4) TVC (Mean) vs TP delay (c,b,ch)=(5,9,5) TVC (Mean) vs TP delay (c,b,ch)=(5,9,6) TVC (Mean) vs TP delay (c,b,ch)=(5,9,7)
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TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
_ 0/-2 _ 0/-2 _ 0/-2 _ 0/-2
TVC (Mean) vs TP delay (c,b,ch)=(5,9,8) TVC (Mean) vs TP delay (c,b,ch)=(5,9,9) TVC (Mean) vs TP delay (c,b,ch)=(5,9,10) TVC (Mean) vs TP delay (c,b,ch)=(5,9,11)
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TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
- 0/-2 _ 0/-2 _ 0/-2 _ 0/-2
TVC (Mean) vs TP delay (c,b,ch)=(5,9,12) TVC (Mean) vs TP delay (c,b,ch)=(5,9,13) TVC (Mean) vs TP delay (c,b,ch)=(5,9,14) TVC (Mean) vs TP delay (c,b,ch)=(5,9,15)
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TVC (Mean) vs TP delay (c,b,ch)=(5,10,0) I 0/-2 TVC (Mean) vs TP delay (c,b,ch)=(5,10,1) I 0/-2 TVC (Mean) vs TP delay (c,b,ch)=(5,10,2) I 0/-2 TVC (Mean) vs TP delay (c,b,ch)=(5,10,3) I ore2)
0+1.4 0+£14 0+14 0+1.4
s [p1 0+14 s [p1 014 s [p1 014 s [p1 014
0.5 0.5 0.5 05
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-0.5F- -0.5f -0.5F- -0.5F-
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TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
Tve _ 0/-2 _ 0/-2 - 0/-2 _ 0/-2
(Mean) vs TP delay (c,b,ch)=(5,10,4) TVC (Mean) vs TP delay (c,b,ch)=(5,10,5) TVC (Mean) vs TP delay (c,b,ch)=(5,10,6) TVC (Mean) vs TP delay (c,b,ch)=(5,10,7)
0+14 0+14 0+14 0+14
s [p1 0+1.4 s [p1 0£14 s [p2 0+14 s [p1 0+14
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0 20 40 60 80 100 0 20 40 60 80 100 0 20 40 60 80 100 0 20 40 60 80 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
0/-2 0/-2 0/-2 0/-2
TVC (Mean) vs TP delay (c,b,ch)=(5,10,8, TVC (Mean) vs TP delay (c,b,ch)=(5,10,9; VC (Mean) vs TP delay (c,b,ch)=(5,10,10 VC (Mean) vs TP delay (c,b,ch)=(5,10,11]
(Mean) y cbon6 | 2 (Mean) y Coen=6 | 2] fvewen y Cbon6: | 2 bvewean y CbehG | 202
s |p1 0+14 1f |p1 0+14 i | p1 014 1 |p1 014
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TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
c _ 0/-2 _ 0/-2 _ 0/-2 _ 0/-2
(Mean) vs TP delay (c,b,ch)=(5,10,12) VC (Mean) vs TP delay (c,b,ch)=(5,10,13) VC (Mean) vs TP delay (c,b,ch)=(5,10,14) VC (Mean) vs TP delay (c,b,ch)=(5,10,15)
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TVC (Mean) vs TP delay (c,b,ch)=(5,11,0) I o2 TVC (Mean) vs TP delay (c,b,ch)=(5,11,1) I o/e2 TVC (Mean) vs TP delay (c,b,ch)=(5,11,2) I o2 TVC (Mean) vs TP delay (c,b,ch)=(5,11,3) I ore2)
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TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
_ 0/-2 _ 0/-2 - 0/-2 _ 0/-2
TVC (Mean) vs TP delay (c,b,ch)=(5,11,4) TVC (Mean) vs TP delay (c,b,ch)=(5,11,5) TVC (Mean) vs TP delay (c,b,ch)=(5,11,6) TVC (Mean) vs TP delay (c,b,ch)=(5,11,7)
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TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
0/-2 0/-2 0/-2 0/-2
TVC (Mean) vs TP delay (c,b,ch)=(5,11,8, TVC (Mean) vs TP delay (c,b,ch)=(5,11,9; VC (Mean) vs TP delay (c,b,ch)=(5,11,10 VC (Mean) vs TP delay (c,b,ch)=(5,11,11]
(Mean) y cbon6 | 2 (Mean) y Coen=6 | 2] fvewen y Cbon6: | 2 bvewean y CbehG | 202
s |p1 0+14 1f |p1 0+14 i | p1 014 1 |p1 014
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TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
- 0/-2 - 0/-2 _ 0/-2 _ 0/-2
C (Mean) vs TP delay (c,b,ch)=(5,11,12) VC (Mean) vs TP delay (c,b,ch)=(5,11,13) VC (Mean) vs TP delay (c,b,ch)=(5,11,14) VC (Mean) vs TP delay (c,b,ch)=(5,11,15)
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TVC (Mean) vs TP delay (c,b,ch)=(5,12,0) I 0/-2 TVC (Mean) vs TP delay (c,b,ch)=(5,12,1) I 0/-2 TVC (Mean) vs TP delay (c,b,ch)=(5,12,2) I 0/-2 TVC (Mean) vs TP delay (c,b,ch)=(5,12,3) I ore2)
0+1.4 0+£14 0+14 0+1.4
s [p1 0+14 s [p1 014 s [p1 014 s [p1 014
0.5 0.5 0.5 05
0 0 0 0
-0.5F- -0.5f -0.5F- -0.5F-
af af af af
1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
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TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
_ 0/-2 _ 0/-2 - 0/-2 _ 0/-2
TVC (Mean) vs TP delay (c,b,ch)=(5,12,4) TVC (Mean) vs TP delay (c,b,ch)=(5,12,5) TVC (Mean) vs TP delay (c,b,ch)=(5,12,6) TVC (Mean) vs TP delay (c,b,ch)=(5,12,7)
0+14 0+14 0+14 0+14
s [p1 0+1.4 s [p1 0£14 s [p2 0+14 s [p1 0+14
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-0.5}- -0.5f -0.51- -0.5}-
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TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
0/-2 0/-2 0/-2 0/-2
TVC (Mean) vs TP delay (c,b,ch)=(5,12,8, TVC (Mean) vs TP delay (c,b,ch)=(5,12,9; VC (Mean) vs TP delay (c,b,ch)=(5,12,10 VC (Mean) vs TP delay (c,b,ch)=(5,12,11]
(Mean) y cbon6 | 2 (Mean) y Coen=6 | 2] fvewen y Cbon6: | 2 bvewean y CbehG | 202
s |p1 0+14 1f |p1 0+14 i | p1 014 1 |p1 014
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TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
c _ 0/-2 _ 0/-2 _ 0/-2 _ 0/-2
(Mean) vs TP delay (c,b,ch)=(5,12,12) VC (Mean) vs TP delay (c,b,ch)=(5,12,13) VC (Mean) vs TP delay (c,b,ch)=(5,12,14) VC (Mean) vs TP delay (c,b,ch)=(5,12,15)
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s [p1 0:14 s [p1 014 s [p1 014 1+ [p1 014
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TVC (Mean) vs TP delay (c,b,ch)=(5,13,0) I 0/-2 TVC (Mean) vs TP delay (c,b,ch)=(5,13,1) I 0/-2 TVC (Mean) vs TP delay (c,b,ch)=(5,13,2) I 0/-2 TVC (Mean) vs TP delay (c,b,ch)=(5,13,3) I ore2)
0+1.4 0+£14 0+14 0+1.4
s [p1 0+14 s [p1 014 s [p1 014 s [p1 014
0.5 0.5 0.5 05
0 0 0 0
-0.5F- -0.5f -0.5F- -0.5F-
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TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
Tve _ 0/-2 _ 0/-2 - 0/-2 _ 0/-2
(Mean) vs TP delay (c,b,ch)=(5,13,4) TVC (Mean) vs TP delay (c,b,ch)=(5,13,5) TVC (Mean) vs TP delay (c,b,ch)=(5,13,6) TVC (Mean) vs TP delay (c,b,ch)=(5,13,7)
0+14 0+14 0+14 0+14
s [p1 0+1.4 s [p1 0£14 s [p2 0+14 s [p1 0+14
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0 0 0 0
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TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
0/-2 0/-2 0/-2 0/-2
TVC (Mean) vs TP delay (c,b,ch)=(5,13,8, TVC (Mean) vs TP delay (c,b,ch)=(5,13,9; VC (Mean) vs TP delay (c,b,ch)=(5,13,10 VC (Mean) vs TP delay (c,b,ch)=(5,13,11]
(Mean) y cbon6 | 2 (Mean) y Coen=6 | 2] fvewen y Cbon6: | 2 bvewean y CbehG | 202
s |p1 0+14 1f |p1 0+14 i | p1 014 1 |p1 014
0.5} 05 0.5 0.5}
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TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
c _ 0/-2 _ 0/-2 _ 0/-2 _ 0/-2
(Mean) vs TP delay (c,b,ch)=(5,13,12) VC (Mean) vs TP delay (c,b,ch)=(5,13,13) VC (Mean) vs TP delay (c,b,ch)=(5,13,14) VC (Mean) vs TP delay (c,b,ch)=(5,13,15)
0+1.4 0+14 0+14 0+1.4
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TVC (Mean) vs TP delay (c,b,ch)=(5,14,0) I o2 TVC (Mean) vs TP delay (c,b,ch)=(5,14,1) I o/e2 TVC (Mean) vs TP delay (c,b,ch)=(5,14,2) I o2 TVC (Mean) vs TP delay (c,b,ch)=(5,14,3) I ore2)
0+1.4 0+£14 0+14 0+1.4
s [p1 0+14 s [p1 014 s [p1 014 s [p1 014
0.5 0.5 0.5 05
0 0 0 0
-0.5F- -0.5f -0.5F- -0.5F-
af af af af
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TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
_ 0/-2 _ 0/-2 - 0/-2 _ 0/-2
TVC (Mean) vs TP delay (c,b,ch)=(5,14,4) TVC (Mean) vs TP delay (c,b,ch)=(5,14,5) TVC (Mean) vs TP delay (c,b,ch)=(5,14,6) TVC (Mean) vs TP delay (c,b,ch)=(5,14,7)
0+14 0+14 0+14 0+14
s [p1 0+1.4 s [p1 0£14 s [p2 0+14 s [p1 0+14
0.5 051 0.5 05
0 0 0 0
-0.5}- -0.5f -0.51- -0.5}-
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TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
0/-2 0/-2 0/-2 0/-2
TVC (Mean) vs TP delay (c,b,ch)=(5,14,8, TVC (Mean) vs TP delay (c,b,ch)=(5,14,9; VC (Mean) vs TP delay (c,b,ch)=(5,14,10 VC (Mean) vs TP delay (c,b,ch)=(5,14,11]
(Mean) y cbon6 | 2 (Mean) y Coen=6 | 2] fvewen y Cbon6: | 2 bvewean y CbehG | 202
s |p1 0+14 1f |p1 0+14 i | p1 014 1 |p1 014
0.5} 05 0.5 0.5}
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0 20 40 60 80 100 20 40 60 80 100 0 20 40 60 80 100 0 20 40 60 80 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
- 0/-2 - 0/-2 _ 0/-2 _ 0/-2
C (Mean) vs TP delay (c,b,ch)=(5,14,12) VC (Mean) vs TP delay (c,b,ch)=(5,14,13) VC (Mean) vs TP delay (c,b,ch)=(5,14,14) VC (Mean) vs TP delay (c,b,ch)=(5,14,15)
0+1.4 0+14 0+14 0+1.4
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TVC (Mean) vs TP delay (c,b,ch)=(5,15,0) I 0/-2 TVC (Mean) vs TP delay (c,b,ch)=(5,15,1) I 0/-2 TVC (Mean) vs TP delay (c,b,ch)=(5,15,2) I 0/-2 TVC (Mean) vs TP delay (c,b,ch)=(5,15,3) I ore2)
0+1.4 0+£14 0+14 0+1.4
s [p1 0+14 s [p1 014 s [p1 014 s [p1 014
0.5 0.5 0.5 05
0 0 0 0
-0.5F- -0.5f -0.5F- -0.5F-
af af af af
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0 20 40 60 80 100 20 40 60 80 100 0 20 40 60 80 100 20 40 60 80 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
_ 0/-2 _ 0/-2 - 0/-2 _ 0/-2
TVC (Mean) vs TP delay (c,b,ch)=(5,15,4) TVC (Mean) vs TP delay (c,b,ch)=(5,15,5) TVC (Mean) vs TP delay (c,b,ch)=(5,15,6) TVC (Mean) vs TP delay (c,b,ch)=(5,15,7)
0+14 0+14 0+14 0+14
s [p1 0+1.4 s [p1 0£14 s [p2 0+14 s [p1 0+14
0.5 051 0.5 05
0 0 0 0
-0.5}- -0.5f -0.51- -0.5}-
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0 20 40 60 80 100 0 20 40 60 80 100 0 20 40 60 80 100 0 20 40 60 80 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
0/-2 0/-2 0/-2 0/-2
TVC (Mean) vs TP delay (c,b,ch)=(5,15,8, TVC (Mean) vs TP delay (c,b,ch)=(5,15,9; VC (Mean) vs TP delay (c,b,ch)=(5,15,10 VC (Mean) vs TP delay (c,b,ch)=(5,15,11]
(Mean) y cbon6 | 2 (Mean) y Coen=6 | 2] fvewen y Cbon6: | 2 bvewean y CbehG | 202
s |p1 0+14 1f |p1 0+14 i | p1 014 1 |p1 014
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TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
c _ 0/-2 _ 0/-2 _ 0/-2 _ 0/-2
(Mean) vs TP delay (c,b,ch)=(5,15,12) VC (Mean) vs TP delay (c,b,ch)=(5,15,13) VC (Mean) vs TP delay (c,b,ch)=(5,15,14) VC (Mean) vs TP delay (c,b,ch)=(5,15,15)
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TVC (Mean) vs TP delay (c,b,ch)=(6,0,0) I o2 TVC (Mean) vs TP delay (c,b,ch)=(6,0,1) I o/e2 TVC (Mean) vs TP delay (c,b,ch)=(6,0,2) I o2 TVC (Mean) vs TP delay (c,b,ch)=(6,0,3) I ore2)
0+1.4 0+£14 0+14 0+1.4
s [p1 0+14 s [p1 014 s [p1 014 s [p1 014
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TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
Ve - 0/-2 _ 0/-2 _ 0/-2 - 0/-2
(Mean) vs TP delay (c,b,ch)=(6,0,4) TVC (Mean) vs TP delay (c,b,ch)=(6,0,5) TVC (Mean) vs TP delay (c,b,ch)=(6,0,6) TVC (Mean) vs TP delay (c,b,ch)=(6,0,7)
0+14 0+14 0+14 0+14
s [p1 0+1.4 s [p1 0£14 s [p2 0+14 s [p1 0+14
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TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TvC _ 0/-2 _ 0/-2 _ 0/-2 _ 0/-2
(Mean) vs TP delay (c,b,ch)=(6,0,8) TVC (Mean) vs TP delay (c,b,ch)=(6,0,9) TVC (Mean) vs TP delay (c,b,ch)=(6,0,10) TVC (Mean) vs TP delay (c,b,ch)=(6,0,11)
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TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
Tve _ 0/-2 _ 0/-2 _ 0/-2 _ 0/-2
(Mean) vs TP delay (c,b,ch)=(6,0,12) TVC (Mean) vs TP delay (c,b,ch)=(6,0,13) TVC (Mean) vs TP delay (c,b,ch)=(6,0,14) TVC (Mean) vs TP delay (c,b,ch)=(6,0,15)
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TVC (Mean) vs TP delay (c,b,ch)=(6,1,0) I o2 TVC (Mean) vs TP delay (c,b,ch)=(6,1,1) I o/e2 TVC (Mean) vs TP delay (c,b,ch)=(6,1,2) I o2 TVC (Mean) vs TP delay (c,b,ch)=(6,1,3) I ore2)
0+1.4 0+£14 0+14 0+1.4
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TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
- 0/-2 _ 0/-2 _ 0/-2 - 0/-2
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TVC (Mean) vs TP delay (c,b,ch)=(6,2,0) I o2 TVC (Mean) vs TP delay (c,b,ch)=(6,2,1) I o/e2 TVC (Mean) vs TP delay (c,b,ch)=(6,2,2) I o2 TVC (Mean) vs TP delay (c,b,ch)=(6,2,3) I ore2)
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TVC (Mean) vs TP delay (c,b,ch)=(6,3,0) I o2 TVC (Mean) vs TP delay (c,b,ch)=(6,3,1) I o/e2 TVC (Mean) vs TP delay (c,b,ch)=(6,3,2) I o2 TVC (Mean) vs TP delay (c,b,ch)=(6,3,3) I ore2)
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TVC (Mean) vs TP delay (c,b,ch)=(6,4,0) I o2 TVC (Mean) vs TP delay (c,b,ch)=(6,4,1) I o/e2 TVC (Mean) vs TP delay (c,b,ch)=(6,4,2) I o2 TVC (Mean) vs TP delay (c,b,ch)=(6,4,3) I ore2)
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TVC (Mean) vs TP delay (c,b,ch)=(6,5,0) I o2 TVC (Mean) vs TP delay (c,b,ch)=(6,5,1) I o/e2 TVC (Mean) vs TP delay (c,b,ch)=(6,5,2) I o2 TVC (Mean) vs TP delay (c,b,ch)=(6,5,3) I ore2)
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TVC (Mean) vs TP delay (c,b,ch)=(6,6,0) I o2 TVC (Mean) vs TP delay (c,b,ch)=(6,6,1) I o/e2 TVC (Mean) vs TP delay (c,b,ch)=(6,6,2) I o2 TVC (Mean) vs TP delay (c,b,ch)=(6,6,3) I ore2)
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TVC (Mean) vs TP delay (c,b,ch)=(6,7,0) I o2 TVC (Mean) vs TP delay (c,b,ch)=(6,7,1) I o/e2 TVC (Mean) vs TP delay (c,b,ch)=(6,7,2) I o2 TVC (Mean) vs TP delay (c,b,ch)=(6,7,3) I ore2)
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TVC (Mean) vs TP delay (c,b,ch)=(6,8,0) I o2 TVC (Mean) vs TP delay (c,b,ch)=(6,8,1) I o/e2 TVC (Mean) vs TP delay (c,b,ch)=(6,8,2) I o2 TVC (Mean) vs TP delay (c,b,ch)=(6,8,3) I ore2)
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(Mean) vs TP delay (c,b,ch)=(6,8,4) TVC (Mean) vs TP delay (c,b,ch)=(6,8,5) TVC (Mean) vs TP delay (c,b,ch)=(6,8,6) TVC (Mean) vs TP delay (c,b,ch)=(6,8,7)
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TVC (Mean) vs TP delay (c,b,ch)=(6,8,8) TVC (Mean) vs TP delay (c,b,ch)=(6,8,9) TVC (Mean) vs TP delay (c,b,ch)=(6,8,10) TVC (Mean) vs TP delay (c,b,ch)=(6,8,11)
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0+1.4 0+14 0+14 0+1.4
s [p1 0:14 s [p1 014 s [p1 014 1+ [p1 014
0.5f 0.5 0.5} 0.5
0 0 0 0
-0.5}- -0.5f -0.51- -0.5}-
fy A I T T T T iy T I T T T T iy A I T B T T iy A I T B T T
60 60
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]




TVC (Mean) vs TP delay (c,b,ch)=(6,9,0) I o2 TVC (Mean) vs TP delay (c,b,ch)=(6,9,1) I o/e2 TVC (Mean) vs TP delay (c,b,ch)=(6,9,2) I o2 TVC (Mean) vs TP delay (c,b,ch)=(6,9,3) I ore2)
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(Mean) vs TP delay (c,b,ch)=(6,9,4) TVC (Mean) vs TP delay (c,b,ch)=(6,9,5) TVC (Mean) vs TP delay (c,b,ch)=(6,9,6) TVC (Mean) vs TP delay (c,b,ch)=(6,9,7)
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_ 0/-2 _ 0/-2 _ 0/-2 _ 0/-2
TVC (Mean) vs TP delay (c,b,ch)=(6,9,8) TVC (Mean) vs TP delay (c,b,ch)=(6,9,9) TVC (Mean) vs TP delay (c,b,ch)=(6,9,10) TVC (Mean) vs TP delay (c,b,ch)=(6,9,11)
- 0+14 . 0+14 - 0+14 . 0£14
s |p1 0+14 1f |p1 0+14 i | p1 014 1 |p1 014
0.5} 05 0.5 0.5}
0 0 0 0
-0.5 -0.5- -0.5 -0.5
-1 -1 -1 -1}
1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 L 1 1 |
0 20 40 60 80 100 20 40 60 80 100 0 20 40 60 80 100 0 20 40 60 80 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
Tve _ 0/-2 _ 0/-2 _ 0/-2 _ 0/-2
(Mean) vs TP delay (c,b,ch)=(6,9,12) TVC (Mean) vs TP delay (c,b,ch)=(6,9,13) TVC (Mean) vs TP delay (c,b,ch)=(6,9,14) TVC (Mean) vs TP delay (c,b,ch)=(6,9,15)
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TVC (Mean) vs TP delay (c,b,ch)=(6,10,0) I o2 TVC (Mean) vs TP delay (c,b,ch)=(6,10,1) I o/e2 TVC (Mean) vs TP delay (c,b,ch)=(6,10,2) I o2 TVC (Mean) vs TP delay (c,b,ch)=(6,10,3) I ore2)
0+1.4 0+£14 0+14 0+1.4
s [p1 0+14 s [p1 014 s [p1 014 s [p1 014
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TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
_ 0/-2 _ 0/-2 - 0/-2 _ 0/-2
TVC (Mean) vs TP delay (c,b,ch)=(6,10,4) TVC (Mean) vs TP delay (c,b,ch)=(6,10,5) TVC (Mean) vs TP delay (c,b,ch)=(6,10,6) TVC (Mean) vs TP delay (c,b,ch)=(6,10,7)
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TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
0/-2 0/-2 0/-2 0/-2
TVC (Mean) vs TP delay (c,b,ch)=(6,10,8, TVC (Mean) vs TP delay (c,b,ch)=(6,10,9; VC (Mean) vs TP delay (c,b,ch)=(6,10,10 VC (Mean) vs TP delay (c,b,ch)=(6,10,11]
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TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
- 0/-2 - 0/-2 _ 0/-2 _ 0/-2
C (Mean) vs TP delay (c,b,ch)=(6,10,12) VC (Mean) vs TP delay (c,b,ch)=(6,10,13) VC (Mean) vs TP delay (c,b,ch)=(6,10,14) VC (Mean) vs TP delay (c,b,ch)=(6,10,15)
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TVC (Mean) vs TP delay (c,b,ch)=(6,11,0) I 0/-2 TVC (Mean) vs TP delay (c,b,ch)=(6,11,1) I 0/-2 TVC (Mean) vs TP delay (c,b,ch)=(6,11,2) I 0/-2 TVC (Mean) vs TP delay (c,b,ch)=(6,11,3) I ore2)
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TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
_ 0/-2 _ 0/-2 - 0/-2 _ 0/-2
TVC (Mean) vs TP delay (c,b,ch)=(6,11,4) TVC (Mean) vs TP delay (c,b,ch)=(6,11,5) TVC (Mean) vs TP delay (c,b,ch)=(6,11,6) TVC (Mean) vs TP delay (c,b,ch)=(6,11,7)
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TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
0/-2 0/-2 0/-2 0/-2
TVC (Mean) vs TP delay (c,b,ch)=(6,11,8, TVC (Mean) vs TP delay (c,b,ch)=(6,11,9; VC (Mean) vs TP delay (c,b,ch)=(6,11,10 VC (Mean) vs TP delay (c,b,ch)=(6,11,11]
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TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
c _ 0/-2 _ 0/-2 _ 0/-2 _ 0/-2
(Mean) vs TP delay (c,b,ch)=(6,11,12) VC (Mean) vs TP delay (c,b,ch)=(6,11,13) VC (Mean) vs TP delay (c,b,ch)=(6,11,14) VC (Mean) vs TP delay (c,b,ch)=(6,11,15)
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TVC (Mean) vs TP delay (c,b,ch)=(6,12,0) I 0/-2 TVC (Mean) vs TP delay (c,b,ch)=(6,12,1) I 0/-2 TVC (Mean) vs TP delay (c,b,ch)=(6,12,2) I 0/-2 TVC (Mean) vs TP delay (c,b,ch)=(6,12,3) I ore2)
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TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
Tve _ 0/-2 _ 0/-2 - 0/-2 _ 0/-2
(Mean) vs TP delay (c,b,ch)=(6,12,4) TVC (Mean) vs TP delay (c,b,ch)=(6,12,5) TVC (Mean) vs TP delay (c,b,ch)=(6,12,6) TVC (Mean) vs TP delay (c,b,ch)=(6,12,7)
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TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
0/-2 0/-2 0/-2 0/-2
TVC (Mean) vs TP delay (c,b,ch)=(6,12,8, TVC (Mean) vs TP delay (c,b,ch)=(6,12,9; VC (Mean) vs TP delay (c,b,ch)=(6,12,10 VC (Mean) vs TP delay (c,b,ch)=(6,12,11]
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TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
c _ 0/-2 _ 0/-2 _ 0/-2 _ 0/-2
(Mean) vs TP delay (c,b,ch)=(6,12,12) VC (Mean) vs TP delay (c,b,ch)=(6,12,13) VC (Mean) vs TP delay (c,b,ch)=(6,12,14) VC (Mean) vs TP delay (c,b,ch)=(6,12,15)
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TVC (Mean) vs TP delay (c,b,ch)=(6,13,0) I o2 TVC (Mean) vs TP delay (c,b,ch)=(6,13,1) I o/e2 TVC (Mean) vs TP delay (c,b,ch)=(6,13,2) I o2 TVC (Mean) vs TP delay (c,b,ch)=(6,13,3) I ore2)
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TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
_ 0/-2 _ 0/-2 - 0/-2 _ 0/-2
TVC (Mean) vs TP delay (c,b,ch)=(6,13,4) TVC (Mean) vs TP delay (c,b,ch)=(6,13,5) TVC (Mean) vs TP delay (c,b,ch)=(6,13,6) TVC (Mean) vs TP delay (c,b,ch)=(6,13,7)
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TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
0/-2 0/-2 0/-2 0/-2
TVC (Mean) vs TP delay (c,b,ch)=(6,13,8, TVC (Mean) vs TP delay (c,b,ch)=(6,13,9; VC (Mean) vs TP delay (c,b,ch)=(6,13,10 VC (Mean) vs TP delay (c,b,ch)=(6,13,11]
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s |p1 0+14 1f |p1 0+14 i | p1 014 1 |p1 014
0.5} 05 0.5 0.5}
0 0 0 0
-0.5 -0.5- -0.5 -0.5
-1 -1 -1 -1}
1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 L 1 1 |
0 20 40 60 80 100 20 40 60 80 100 0 20 40 60 80 100 0 20 40 60 80 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
- 0/-2 - 0/-2 _ 0/-2 _ 0/-2
C (Mean) vs TP delay (c,b,ch)=(6,13,12) VC (Mean) vs TP delay (c,b,ch)=(6,13,13) VC (Mean) vs TP delay (c,b,ch)=(6,13,14) VC (Mean) vs TP delay (c,b,ch)=(6,13,15)
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TVC (Mean) vs TP delay (c,b,ch)=(6,14,0) I 0/-2 TVC (Mean) vs TP delay (c,b,ch)=(6,14,1) I 0/-2 TVC (Mean) vs TP delay (c,b,ch)=(6,14,2) I 0/-2 TVC (Mean) vs TP delay (c,b,ch)=(6,14,3) I ore2)
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TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
_ 0/-2 _ 0/-2 - 0/-2 _ 0/-2
TVC (Mean) vs TP delay (c,b,ch)=(6,14,4) TVC (Mean) vs TP delay (c,b,ch)=(6,14,5) TVC (Mean) vs TP delay (c,b,ch)=(6,14,6) TVC (Mean) vs TP delay (c,b,ch)=(6,14,7)
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TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
0/-2 0/-2 0/-2 0/-2
TVC (Mean) vs TP delay (c,b,ch)=(6,14,8, TVC (Mean) vs TP delay (c,b,ch)=(6,14,9; VC (Mean) vs TP delay (c,b,ch)=(6,14,10 VC (Mean) vs TP delay (c,b,ch)=(6,14,11]
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s |p1 0+14 1f |p1 0+14 i | p1 014 1 |p1 014
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TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
c _ 0/-2 _ 0/-2 _ 0/-2 _ 0/-2
(Mean) vs TP delay (c,b,ch)=(6,14,12) VC (Mean) vs TP delay (c,b,ch)=(6,14,13) VC (Mean) vs TP delay (c,b,ch)=(6,14,14) VC (Mean) vs TP delay (c,b,ch)=(6,14,15)
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TVC (Mean) vs TP delay (c,b,ch)=(6,15,0) I 0/-2 TVC (Mean) vs TP delay (c,b,ch)=(6,15,1) I 0/-2 TVC (Mean) vs TP delay (c,b,ch)=(6,15,2) I 0/-2 TVC (Mean) vs TP delay (c,b,ch)=(6,15,3) I ore2)
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TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
Tve _ 0/-2 _ 0/-2 - 0/-2 _ 0/-2
(Mean) vs TP delay (c,b,ch)=(6,15,4) TVC (Mean) vs TP delay (c,b,ch)=(6,15,5) TVC (Mean) vs TP delay (c,b,ch)=(6,15,6) TVC (Mean) vs TP delay (c,b,ch)=(6,15,7)
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TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
0/-2 0/-2 0/-2 0/-2
TVC (Mean) vs TP delay (c,b,ch)=(6,15,8, TVC (Mean) vs TP delay (c,b,ch)=(6,15,9; VC (Mean) vs TP delay (c,b,ch)=(6,15,10 VC (Mean) vs TP delay (c,b,ch)=(6,15,11]
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TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
c _ 0/-2 _ 0/-2 _ 0/-2 _ 0/-2
(Mean) vs TP delay (c,b,ch)=(6,15,12) VC (Mean) vs TP delay (c,b,ch)=(6,15,13) VC (Mean) vs TP delay (c,b,ch)=(6,15,14) VC (Mean) vs TP delay (c,b,ch)=(6,15,15)
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TVC (Mean) vs TP delay (c,b,ch)=(7,0,0) I 0/-2 TVC (Mean) vs TP delay (c,b,ch)=(7,0,1) I 0/-2 TVC (Mean) vs TP delay (c,b,ch)=(7,0,2) I 0/-2 TVC (Mean) vs TP delay (c,b,ch)=(7,0,3) I ore2)
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TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
- 0/-2 _ 0/-2 _ 0/-2 - 0/-2
TVC (Mean) vs TP delay (c,b,ch)=(7,0,4) TVC (Mean) vs TP delay (c,b,ch)=(7,0,5) TVC (Mean) vs TP delay (c,b,ch)=(7,0,6) TVC (Mean) vs TP delay (c,b,ch)=(7,0,7)
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TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
_ 0/-2 _ 0/-2 _ 0/-2 _ 0/-2
TVC (Mean) vs TP delay (c,b,ch)=(7,0,8) TVC (Mean) vs TP delay (c,b,ch)=(7,0,9) TVC (Mean) vs TP delay (c,b,ch)=(7,0,10) TVC (Mean) vs TP delay (c,b,ch)=(7,0,11)
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Tve _ 0/-2 _ 0/-2 _ 0/-2 _ 0/-2
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TVC (Mean) vs TP delay (c,b,ch)=(7,1,0) I o2 TVC (Mean) vs TP delay (c,b,ch)=(7,1,1) I o/e2 TVC (Mean) vs TP delay (c,b,ch)=(7,1,2) I o2 TVC (Mean) vs TP delay (c,b,ch)=(7,1,3) I ore2)
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TVC (Mean) vs TP delay (c,b,ch)=(7,2,0) I 0/-2 TVC (Mean) vs TP delay (c,b,ch)=(7,2,1) I 0/-2 TVC (Mean) vs TP delay (c,b,ch)=(7,2,2) I 0/-2 TVC (Mean) vs TP delay (c,b,ch)=(7,2,3) I ore2)
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TVC (Mean) vs TP delay (c,b,ch)=(7,3,0) I o2 TVC (Mean) vs TP delay (c,b,ch)=(7,3,1) I o/e2 TVC (Mean) vs TP delay (c,b,ch)=(7,3,2) I o2 TVC (Mean) vs TP delay (c,b,ch)=(7,3,3) I ore2)
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TVC (Mean) vs TP delay (c,b,ch)=(7,4,0) I o2 TVC (Mean) vs TP delay (c,b,ch)=(7,4,1) I o/e2 TVC (Mean) vs TP delay (c,b,ch)=(7,4,2) I o2 TVC (Mean) vs TP delay (c,b,ch)=(7,4,3) I ore2)
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TVC (Mean) vs TP delay (c,b,ch)=(7,5,0) I 0/-2 TVC (Mean) vs TP delay (c,b,ch)=(7,5,1) I 0/-2 TVC (Mean) vs TP delay (c,b,ch)=(7,5,2) I 0/-2 TVC (Mean) vs TP delay (c,b,ch)=(7,5,3) I ore2)
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(Mean) vs TP delay (c,b,ch)=(7,5,4) TVC (Mean) vs TP delay (c,b,ch)=(7,5,5) TVC (Mean) vs TP delay (c,b,ch)=(7,5,6) TVC (Mean) vs TP delay (c,b,ch)=(7,5,7)
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TVC (Mean) vs TP delay (c,b,ch)=(7,6,0) I o2 TVC (Mean) vs TP delay (c,b,ch)=(7,6,1) I o/e2 TVC (Mean) vs TP delay (c,b,ch)=(7,6,2) I o2 TVC (Mean) vs TP delay (c,b,ch)=(7,6,3) I ore2)
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TVC (Mean) vs TP delay (c,b,ch)=(7,6,4) TVC (Mean) vs TP delay (c,b,ch)=(7,6,5) TVC (Mean) vs TP delay (c,b,ch)=(7,6,6) TVC (Mean) vs TP delay (c,b,ch)=(7,6,7)
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TVC (Mean) vs TP delay (c,b,ch)=(7,6,8) TVC (Mean) vs TP delay (c,b,ch)=(7,6,9) TVC (Mean) vs TP delay (c,b,ch)=(7,6,10) TVC (Mean) vs TP delay (c,b,ch)=(7,6,11)
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TVC (Mean) vs TP delay (c,b,ch)=(7,7,0) I o2 TVC (Mean) vs TP delay (c,b,ch)=(7,7,1) I o/e2 TVC (Mean) vs TP delay (c,b,ch)=(7,7,2) I o2 TVC (Mean) vs TP delay (c,b,ch)=(7,7,3) I ore2)
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TVC (Mean) vs TP delay (c,b,ch)=(7,7,4) TVC (Mean) vs TP delay (c,b,ch)=(7,7,5) TVC (Mean) vs TP delay (c,b,ch)=(7,7,6) TVC (Mean) vs TP delay (c,b,ch)=(7,7,7)
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TVC (Mean) vs TP delay (c,b,ch)=(7,7,8) TVC (Mean) vs TP delay (c,b,ch)=(7,7,9) TVC (Mean) vs TP delay (c,b,ch)=(7,7,10) TVC (Mean) vs TP delay (c,b,ch)=(7,7,11)
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TVC (Mean) vs TP delay (c,b,ch)=(7,8,0) I o2 TVC (Mean) vs TP delay (c,b,ch)=(7,8,1) I o/e2 TVC (Mean) vs TP delay (c,b,ch)=(7,8,2) I o2 TVC (Mean) vs TP delay (c,b,ch)=(7,8,3) I ore2)
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TVC (Mean) vs TP delay (c,b,ch)=(7,8,4) TVC (Mean) vs TP delay (c,b,ch)=(7,8,5) TVC (Mean) vs TP delay (c,b,ch)=(7,8,6) TVC (Mean) vs TP delay (c,b,ch)=(7,8,7)
0+14 0+14 0+14 0+14
s [p1 0+1.4 s [p1 0£14 s [p2 0+14 s [p1 0+14
0.5 051 0.5 05
0 0 0 0
-0.5}- -0.5f -0.51- -0.5}-
-1 -1 -1 -1
1 1 1 1 | 1 1 1 1 1 1 1 1 1 1 1 1 1 1 |
0 20 40 60 80 100 0 20 40 60 80 100 0 20 40 60 80 100 0 20 40 60 80 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
_ 0/-2 _ 0/-2 _ 0/-2 _ 0/-2
TVC (Mean) vs TP delay (c,b,ch)=(7,8,8) TVC (Mean) vs TP delay (c,b,ch)=(7,8,9) TVC (Mean) vs TP delay (c,b,ch)=(7,8,10) TVC (Mean) vs TP delay (c,b,ch)=(7,8,11)
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